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Question Number : 1 Question Id : 97675511637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter cluster in the series.

GH, HI1J, JKLM, MNOPQ,?
Options :

1. ® QRTUV

2. % QRSTUV

3. # RSTUVW

4. % RTVXYZ

Question Number : 1 Question Id : 97675511637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

feu U faedl O 9, 9oft 4 q 31&R T &1 JA1d B |

GH, H1J, JKLM, MNOPQ,?
Options :

1. % QRTUV

2. ¥ QRSTUV

3. ¥ RSTUVW

4, % RTVXYZ

Question Number : 2 Question Id : 97675511638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter cluster in the series.

HKRN, LNTO, PQVP, TTXQ,?
Options :

1. % XXQX

2. % GRDS

3. ¥ XWZR

4. % MNQS

Question Number : 2 Question Id : 97675511638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U fasedi O 9, 9uft T I 31&R TYE &1 ATd HI|

HKRN, LNTO, PQVP, TTXQ,?
Options :

1. # XXQX

2. % GRDS

3. ¥ XWZR




4. % MNQS

Question Number : 3 Question Id : 97675511639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is unrelated (or odd one out amongst) the given set of numbers.
Options :

1. # BDGK

2. % NPSW

3. % FILP

4. ¥ VXAE

Question Number : 3 Question Id : 97675511639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fawed & g, ot 3T T Treg! & Wig ¥ Sraferd (@1 34 3 fav §) 82
Options :

1. * BDGK

2. ® NPSW

3. ¥ FILP

4. % VXAE

Question Number : 4 Question Id : 97675511640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the words share the same relationship as that shared by the given pair of words.

Examination : Pass
Options :

1. % Competition : Poem
2. % Match : Football

3. % Machine : Fault



4. ¥ Fight : Win

Question Number : 4 Question Id : 97675511640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fased &1 99 Y, o aw Wreg] &1 3109 H 9] 9ay &, S daey -1 f3U 71U o4 & Weal & a9 5|
Tt : 3ol

Options :

1. % g : wiadn
2.“13%[:9,7?3\11?[

3. % TR QY
4.9/?‘[3.'[_5::%

Question Number : 5 Question Id : 97675511641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter cluster from the given alternatives.

UYEI: WG ::0QJL:?
Options :
1. % AC
2. % DZ
3. % QQ
4. ¥ PK

Question Number : 5 Question Id : 97675511641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffefad u=a 1, fau U fawedl O O Te6fed sieR IHg &1 994 H |

UYEL: WG ::0QJL:?
Options :



1. % AC
2. % DZ

3. % QQ
4. ¥ PK

Question Number : 6 Question Id : 97675511642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'SECTOR' is written as 'CQRAPM '. How will 'PERIOD' be written as in that language?
Options :

1. ¥ CNGPBM

2. ¥ CNRLBM

3. ¥ WRTXNU

4. # BGJPBM

Question Number : 6 Question Id : 97675511642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreht fAf3d e WTWT &, 'SECTOR' &1 'CQRAPM' & ¥ H foral SITa 8 | 39 HTNT & 'PERIOD' & &y ferar Sam
Options :

1. ¥ CNGPBM

2. # CNRLBM

3. ¥ WRTXNU

4. % BGJPBM

Question Number : 7 Question Id : 97675511643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four kids P, Q, R and S are up on the ladder. P is further up the ladder than Q, Q is between P and R. If S is further up than P, who is the third
from the bottom?

Options :
1. % Q



2.¥P
3. * R
4. % S

Question Number : 7 Question Id : 97675511643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%an?P,Q,Reﬁ?swltﬂém@é%mQﬁwﬁmw%|Q,Pﬁ?R%@%%laﬁS,P@wﬁxﬂaﬁw%ﬂ‘r:ﬂ%ﬁ?ﬂw
)

Options :

1.%Q

2.4 P

3. % R

4.%

Question Number : 8 Question Id : 97675511644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing towards a photo, Ragini said, "He is the son of the only son of my grand mother". How is the boy related to Ragini?
Options :

1. % Father

2. ¥ Brother

3. ®* Cousin

4. % QGrandson

Question Number : 8 Question Id : 97675511644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T qER B 3R SURT B U AN A BT, "8 B ST &b IHald 3¢ BT 92T &', I8 ASHT AN J Y Jeaed 82
Options :

1. % fuar

2. ¥ I3



3. % TORT/ AERT / ARRT/ ORI HIS
4. % a1/ ar

Question Number : 9 Question Id : 97675511645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
Some pubs are cups.
Some pubs are tips.

Options :

1. # Some cups are tips
2. % All tips are pubs
3. % Some tips are pubs

4. # Some tips are cups

Question Number : 9 Question Id : 97675511645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H, & U9 & §16 fawed] & IR Fpd QU MU § | Siue! T 7T Sl &1 I A1 8, HA 81 o Jawnd adl o g Ui
gid gf 1 gt el 1 ufeu fOhr aa Fifore fos fau e femsf & § 1 A1 b wTd $U I SII¥R0I 63l 8, 918 JI91d 9 3 H &l

DHY:

$3 Ud, US|

$3 g, few g
Options :

1. % PO HY, o
2. % gt fewy, us g
3. ¢ 59 fow, ua §
4. % 33 fowg, U g




Question Number : 10 Question Id : 97675511646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are three statements followed by two conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:

Some beds are chairs.
All chairs are desks.
All desks are tables.

Conclusions:
I. Some tables are beds.
II. Some desks are beds.

Options :

1. #* If only conclusion I follows

2. * If only conclusion II follows

3. % If either I or II follows

4. ¥ If both conclusion I and II follow

Question Number : 10 Question Id : 97675511646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 foU 7T U= B i B iR IS 91 &l s AU U § 1 31ueh! faU T diFl &Y &1 I JIFHT g Yl 81 d Ja31d 9t ¥ =1 Ui
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aﬁwﬁw Bl §
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L $S cad, TR Bl
II. $3 O, TR B




Options :

1. % g ad Fsh [ 3FIER0 HR1 §
2. % g Had (5HY 11 SR &l §
3. % gfe a1 dr fFepe 137 11 SR akal §
4. T G FISHT 1 SR 11 3I¥RU HRdl §

Question Number : 11 Question Id : 97675511647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statement:
W>D>C=X<A<Z<F
Conclusion:

.Z>C

II. X<W

Options :

1. # None is true

2. % Only II is true

3. % Only I is true

4. ¥ Both I and II are true

Question Number : 11 Question Id : 97675511647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Uy H, Yy A 34w 3/qudl & o ey ol < T 81 HU & 915 &l sy fau 7w g1 R U 99 & 3nyR R st &
3T HIfo 3R Ifed I &1 LI

DHY:
W>D>C=X<A<Z<F

frepy.



.Z>C
IL X<W

Options :

1. % Bs I8
2. % AT NI G

3. % PAA1qI

4. Y 13RI IITZ

Question Number : 12 Question Id : 97675511648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, correct the equation by interchanging two signs.

10+18+25%x20-5=92
Options :

1. * 4+ and x

2. % +and +

3.% +~and -

4, % —and +

Question Number : 12 Question Id : 97675511648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ay ¥, 3l gl &) IRER dead? JHIGRU &1 Jgl B |

10+18+25%x20-5=92
Options :

1. % + 3R x
2. % + 3R+
3.¢ = 3R -
4.% 3R+




Question Number : 13 Question Id : 97675511649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

6,12,21,33,?
Options :

1. # 38

2. % 40

3. % 45

4,9 48

Question Number : 13 Question Id : 97675511649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 <t et 9of o e e 1 S

6,12,21,33,7?
Options :

1. % 38

2. % 40

3. % 45

4.9 48

Question Number : 14 Question Id : 97675511650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates best the relationship among.

“Reading material, Newspapers, Magazines”
Options :



2. % I
3. % I
4.9 i

Question Number : 14 Question Id : 97675511650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e JA® g - fau T aegsil/faam & g=ifdr g, O 98 TR P A1 B ol (9 H Jad dgk T $I g2l |
"I3 HTHUT, TR U, G

Options :




2. % .
3. % l
4.«@

Question Number : 15 Question Id : 97675511651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Algebra, Trigonometry, Mathematics
Options :




Question Number : 15 Question Id : 97675511651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3MH T ! g B3 SNt T MW o H e 3ot aRg o ! SRfar ] |
diorford, Brerorfifa, ford

Options :

1. ¥




Question Number : 16 Question Id : 97675511652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amar walked 25 km towards west, took a left turn and walked 15 km. He again took a left turn and walked 35 km. He then took a right turn and
stopped. Now he was facing in which direction?

Options :
1. % West
2. % East
3. % South
4. # North

Question Number : 16 Question Id : 97675511652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MR YA Y 3R 25 fopeit Treran 8, AR o g § R 15 foreit e 81 a8 iR § oY gear § SR 35 fobeit Treran 81 o 98 o get 8iR



Bob T 37d 3] 7 fob fmm # ur
Options :

1. % Uigm

2. % Qg

3. ¥ &

4. % IR

Question Number : 17 Question Id : 97675511653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will replace the question mark in the question figure?

Question figure:
Options :
1. ¢

(&)




&

Question Number : 17 Question Id : 97675511653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST B HH- IR i, U fag o) ufawifig st
wed INFa:

B |||

Options :




2. %
3. %
4. %

Question Number : 18 Question Id : 97675511654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a die has six faces 1, 2, 3, 4, 5 and 6. Two positions of the same cube are given. Which number is opposite to number
6?

Options :
1.¥2
2. %5
3. %3



4. % 6

Question Number : 18 Question Id : 97675511654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffad Uy &, Th U & B8 Bad 1,2, 3, 4, 5 3R 6 & | IAH g @1 < fRufai &) 18 81 H-3 T 6 & fauia g2

D ©

{ii)

Options :
1.2
2.% 5
3.%3
4. % 6

Question Number : 19 Question Id : 97675511655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

?

Options :



Question Number : 19 Question Id : 97675511655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIH-T IR NPT, T MBI b YT Bl TR B2

)’

Options :

1. ¢



Question Number : 20 Question Id : 97675511656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures indicate how it will appear when
opened?

Question figures:

|
|
i
-
d
1
1
1
|
1
1

-..-5..

g i : i

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :



oo0 ©Coo

Q00 000

3
L+
|ece o000

L8

e o o

oDoODO

O ) O

Question Number : 20 Question Id : 97675511656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T gy Spfaal & faaTu SR SIS &1 HISaR - aul WIa- & §G d8 [y IR SMHd oI fG@Ts & |
W WFadr:

Tl im




Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

o000 ©CoO

200 00O

3
o

|90 Q00

o © 4]

000000

O o o

General Awareness

Group Number : 2
Group Id : 976755386
Group Maximum Duration : 0
Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 976755714
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755842
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675511657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which century AD was Nalanda founded?
Options :

1. % 3rd

2. % 4th

3. ¢ 5th

4. % gh

Question Number : 21 Question Id : 97675511657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TTEIaT 1 RITIAT D 1H- TdTsa! s9at H g3 o
Options :

1. % drRt

2. % gt

3. ¢ idl

4. % Bl

Question Number : 22 Question Id : 97675511658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many Ratnas, including the prominent Musician Tansen, were there in the court of Akbar?
Options :

1. %7

2.%5

3.% 3

4.9

Question Number : 22 Question Id : 97675511658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR & GRAR H, TG A MasR a9+ died, fba Id 22
Options :

1. %7

2. %5

3.%3

4.¥9

Question Number : 23 Question Id : 97675511659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many stanzas of Rabindranath Tagore's "Jana Gana Mana" song were adopted as the National Anthem of India?



Options :
1. %2
2. % 4
3.1
4. %3

Question Number : 23 Question Id : 97675511659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty SR & S 701 H 3 & fobe= S 1 4R & AT 1 & FY H U1 717 Y12
Options :

1. %2

2.% 4

3.¢ 1

4. %3

Question Number : 24 Question Id : 97675511660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Planning Commission of India established?
Options :

1. = 1947

2.9 1950

3. % 1955

4. * 1966

Question Number : 24 Question Id : 97675511660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR o AToIT N B RITIT Hd gs U2

Options :



1. #® 1947
2. ¥ 1950
3. % 1955
4. % 1966

Question Number : 25 Question Id : 97675511661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following persons is known as the Architect of the Indian Planning?
Options :

1. ¥ PC Mahalanobis

2. % Jawaharlal Nehru

3. ¥ Amartya Sen

4. # Vallabhai Patel

Question Number : 25 Question Id : 97675511661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & 3 fry afad &1 YR Ao & IRGHR & =0 & ST ST 82
Options :

1. ¢ Ul 3l mgarifey

2. ¥ JAGRATA Ag®

3. % M I

4. % FEAHTS UCd

Question Number : 26 Question Id : 97675511662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following devices is used for measuring the force acting on an object?
Options :

1. % Spirometer



2. ¥ Spring Balance
3. % Fathometer

4. # Framing Square

Question Number : 26 Question Id : 97675511662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopdt g TR @ ATt 51 1 AR & forg Fwferad & | forg SuesRur o1 Ut fbar wiran 82
Options :

1. % gl

2. ¢ HUMIGR el

3. % BryfdieR

4. % ThfeNT WHRR

Question Number : 27 Question Id : 97675511663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the second individual to land on the surface of Moon?
Options :

1. # Neil Armstrong

2. ¥ Edwin Aldrin

3. % Pete Conrad

4. #® Alan Bean

Question Number : 27 Question Id : 97675511663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IGHT B g TR SR aTal Rl Afad DI UT?
Options :

1. % el STHERT

2. TSTa Ul




3. % Ule HIRIS
4, % TAA S

Question Number : 28 Question Id : 97675511664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "Dead Sea" is located at which of the following places?
Options :

1. ¥ Asia

2. % Africa

3. % Europe

4. # North America

Question Number : 28 Question Id : 97675511664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AR FEfeRed # 3 fbd = R Rud &2
Options :

1. ¥ TRE

2. % 3{TbIchI

3. % R

4. % IR AR

Question Number : 29 Question Id : 97675511665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process by which water continually changes its form and circulates between oceans, atmosphere and land is called what?
Options :

1. # Tides

2. % Ocean Currents

3. # Precipitation



4. ¥ Water Cycles

Question Number : 29 Question Id : 97675511665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ag UfehaT forids GRT UTH! TR 370 &0 Seadl 38dT & 3R HENNRI, argHsd 3R HYfH & st gHdT 8T 8, 1 Hadrd o2
Options :

l. % SdR

2. % YR DI og¥

3. % U

4, ¥ Slcl deb

Question Number : 30 Question Id : 97675511666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following movements was started to give women the right to vote?
Options :

1. ¥ Suffragette Movement

2. # Feminism

3. ¥ Women Empowerment Movement

4. % French Revolution

Question Number : 30 Question Id : 97675511666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & 9 sficia Afgarsi & die a1 & ISR & ol == fosar mar 4
Options :

1. ¢ FHRAIT 3G

2. % qRidG

3. % Tfga AfGAHROT SHigTeH

4. % Tpg 3ficreH




Question Number : 31 Question Id : 97675511667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what year did the Great Economic Depression start?
Options :

1. % 1929

2. % 1931

3. % 1911

4. % 1914

Question Number : 31 Question Id : 97675511667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U THHIHD [SURH P LHaTd fvy a8 7 g3 o
Options :

1. ¥ 1929

2. % 1931

3. % 1911

4. % 1914

Question Number : 32 Question Id : 97675511668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what year did Mahatma Gandhi return to India from South Africa?
Options :

1. # 1909

2. %1919

3. #1905

4.9 1915

Question Number : 32 Question Id : 97675511668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETT TT7eh g I T ipieeT & HRd ie 32
Options :

1. # 1909

2. % 1919

3. % 1905

4, ¥ 1915

Question Number : 33 Question Id : 97675511669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has authored the book "40 Years with Abdul Kalam- Untold Stories"?
Options :

1. # M Venkaiah Naidu

2. % Dr AS Pillai

3. % APJ Abdul Kalam

4. # Amish Tripathi

Question Number : 33 Question Id : 97675511669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"40 39 fag 3egd HAM- IS LRI T (e fordl 82
Options :

1. % TH I A

2. ¢ ST TY fed

3. % TUI S 3fegdl dhalrd

4. % 3 Burdt

Question Number : 34 Question Id : 97675511670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the official name of the Nobel Prize in the field of Economics?
Options :

1. ¥ Nobel Memorial Prize in Economic Sciences

2. ¥ Sveriges Riksbank Prize in Economic Sciences

3. # Nobel for Economics

4. ® Nobel prize for excellence in Econmics

Question Number : 34 Question Id : 97675511670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R & &3 T ad RIHR BT HATABTRe 14 o1 82
Options :

1. % 3f1ifes fa o Ao BARae GREHR

2. ¢ 3 fagM & Wi Redd® TR

3. % 3RIRRE & forg Al

4. % UYRIRE H IHTA & AT Aod GREBR

Question Number : 35 Question Id : 97675511671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What Amendment Act introduced the Right to Education under the Fundamental Rights?
Options :

1. % 427 Amendment Act

2. % 69t Amendment Act

3. % 44™ Amendment Act

4. ¢ 86" Amendment Act

Question Number : 35 Question Id : 97675511671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & SfeR ol Aifere ISRl A fog Inea sifafaas 3 oy faar ur



Options :

1. % 497 d=ne Sffafad
2. % eogi TRNY ffAfaH
3. % 4491 G=NYE IfAfTH
4. ¥ 861 GMY TR

Question Number : 36 Question Id : 97675511672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Maximum Strength of the Rajya Sabha according to the Article 80 of the Indian Constitution?
Options :

1. #® 545

2. % 238

3. % 245

4. % 250

Question Number : 36 Question Id : 97675511672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU & 3dq 80 b TR e JHT B 3Hfeeb e e bl 82
Options :

1. % 545

2. % 238

3. % 245

4.+ 250

Question Number : 37 Question Id : 97675511673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries shall be hosting the 2022 FIFA U-17 Women's World Cup?
Options :

1. ¥ India



2. % Germany
3. * France
4. % Qatar

Question Number : 37 Question Id : 97675511673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad & @ o9 1 2 2022 BT 3iER-17 Al fay HU o ASaH 12
Options :

1. ¥ HRd

2. % SHA

3. % Y

4, % bR

Question Number : 38 Question Id : 97675511674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries was not a part of the ICC World Test Championship 2019-21?
Options :

1. # Bangladesh

2. # Sri Lanka

3. % Afghanistan

4. % West Indies

Question Number : 38 Question Id : 97675511674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed # 9 &1 91 &= 1cc fay e A= 2019-21 H7 fowr 8T ur?
Options :

1. % SRAGY

2. % giciot



3. ¢ BN
4. % & IS

Question Number : 39 Question Id : 97675511675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries developed the COVID-19 vaccine called "Sputnik V"?
Options :

1. # India

2. % UK

3. % USA

4. ¥ Russia

Question Number : 39 Question Id : 97675511675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # 9 fg <1 3 gafie® div A\ coVID-19 daiH fasmfad @1 g2
Options :

1. # HRd

2. % Yefged

3. % 3{ERIBT

4. ¥ Y

Question Number : 40 Question Id : 97675511676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the name of the scheme under which India supplied vaccines to other nations?
Options :

1. % Vaccine Safety

2. # Vaccine Batwara

3. % Vaccine Maitri



4. * Vaccine Saathi

Question Number : 40 Question Id : 97675511676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 IS BT A 1 YT P d8d URA A 37 SR Bl HIfAS Al B Y[ D12

Options :
1. % JoRi QRem
2. % qRIH §earT
3. ¢ ddE oA
4. % o Tt
Arithmetic Ability
Group Number : 3
Group Id : 976755387
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 976755715
Section Number : 1
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Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20
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Sub-Section Id : 976755843
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675511677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

342 — 262 = 72 — 30 percent of 320
Options :

1. % 12

2. % 18

3. 24

4. % 30

Question Number : 41 Question Id : 97675511677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fou T i H Uy g (2) o R IR 347 ST

342 — 262 = 22 — 320 &I 30 9faed
Options :

1. = 12

2. % 18

3.9 24

4. % 30

Question Number : 42 Question Id : 97675511678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the smallest fraction of the following fractions.
Options :
85
1% 9%

23

2. # 88

13

3 % 45

212

4 841

Question Number : 42 Question Id : 97675511678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeRad foel & 3 Tl B fHe J1d i |
Options :

85
1% %

23

2. % 88

13

3 % 45

212
4.« 841



Question Number : 43 Question Id : 97675511679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following polynomial is divisible by x - 3?
Options :

| % 4x3-6x2-7x-5
) # 2x3-3x1-4x-9
3 % X*-8x2-x-7

4« 3X3-6%x2-5x-12

Question Number : 43 Question Id : 97675511679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T B @ -1 9gUS x - 3 gRT v &2
Options :

| % 4x3-6x2-7x-5

) % 2X3-3x1-4x-9
3 ® x-8x2-x-7

4« 3%3-6X1-5x-12

Question Number : 44 Question Id : 97675511680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What will come in the place of question mark (?) in the given expression?

V21 + V49 + /64% of 5000 =?
Options :
1. % 120
2. ¥ 300
3. % 450
4. % 500

Question Number : 44 Question Id : 97675511680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U o O Uy g (2) & RIF TR T ST

V21 + /49 + 1/64% of 5000 = ?
Options :
1. # 120
2. % 300
3. % 450
4. #® 500

Question Number : 45 Question Id : 97675511681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the sum of the digits of the smallest four digit number which is exactly divisible by 8, 10, 12, 18 and 24?
Options :

1. %8

2.% 6

3. % 12

4. ¥ 9

Question Number : 45 Question Id : 97675511681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR 3! ITcht G BICT GBHT & 3! BT AT JTd HISTT MM 8,10, 12, 18 Td 24 T gufa: faurord gv
Options :

1. % 8

2.% 6

3.% 12

4. %9

Question Number : 46 Question Id : 97675511682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man saves an average of Rs.500 per month from January to June. In July, he saves Rs.450. From August to December, his total savings are 60
percent of his savings from January to July. Find his average monthly salary for the year if his average monthly spending for the whole year is
Rs.440.

Options :

1. % Rs.1,050
2. % Rs.990
3. ¥ Rs.1,100
4. ¥ Rs.900

Question Number : 46 Question Id : 97675511682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH JATGH! ST ¥ S dd 500 $UT Ui ATE Sid S1d1 8 | JT8 |, 98 450 T F91d1 g | 3R ¥ fUaR I I9d! o §ad, S o
JATs d% DI F9d BT 60 T & | 9 & o ITHT S d AR da- 1d B3, Al T I ITbT SHId WIS T 440 TUA 7 |

Options :

1. % 1,050 30
2. % 990 ¥TY
3. % 1,100 399
4. ¥ 900 3qY




Question Number : 47 Question Id : 97675511683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Due to fall in manpower, the production in a factory decreases by 20 percent. By what percent should the working hours per man be increased to
restore the original production?

Options :

1. % 12.5 percent
2. % 10 percent
3. % 25 percent
4. % 20 percent

Question Number : 47 Question Id : 97675511683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AHayH # fIRTaC & SR Th HREM &I IdTeH 20 UL I 9 S1d1 § | Jd IdTe B §-10 38 & g ufd safad s & °9e ol fvaq
Ufa=Id ¥ JerT SiHT1 91fee?

Options :

1. % 12.5 fa=d

2. % 10 Ufa=ra

3. ¥ 25 Ofa=Id

4. % 20 yfc=rd

Question Number : 48 Question Id : 97675511684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election between two candidates, 80 percent of the voters cast their votes, out of which 10 percent votes were declared invalid. A candidate
got 2160 votes which was 75 percent of the valid votes. Find the total number of voters enrolled in that election.

Options :
1. % 6000
2. % 6400
3. ¥ 4000
4. % 4800



Question Number : 48 Question Id : 97675511684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& SHIGAR] & & H, 80 UfI=Id Aderarsil 3 o0+ de S1d, fS e § 10 Ufa=id die 3y °iftd T T4 U SHIGaR &I 2160 die ffa il
qY arel &1 75 Ufa=Id Tl 39 gA1d § AHifdhd Adardrsl &1 Hd Wed J1d Hifor|

Options :

1. % 6000

2. % 6400

3.+ 4000

4. % 4800

Question Number : 49 Question Id : 97675511685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A blanket is marked at 25 percent above its cost price and after allowing a discount of 12 percent on its marked price, shopkeeper sold the
blanket at Rs.180 profit. What is the marked price of the blanket?

Options :

1. ¥ Rs.2250
2. % Rs.1875
3. % Rs.2500
4. % Rs.2375

Question Number : 49 Question Id : 97675511685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Had BT 39D BT Jed T 25 Uia=rd S1fiew Sifdd foar ST 8 SR 39 siftrd Jed WR 12 UfI=Id & §e & & d1G gPHMER o Had
BT 180 TUY Y R ST | A BT Hfbd Hedl fha1 82

Options :

1. ¥ 2250 309Y
2. % 1875300
3. % 2500 $UY




4. % 237530

Question Number : 50 Question Id : 97675511686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the squares of the present ages of P and Q is 25 and the average of their present ages is 12.5 years(consider age of P is
more than Q). After how many years the ratio of ages of P and Q will be 15:14?

Options :

1. # 1 year
2. % 2 years
3. * 4 years

4. # 6 years

Question Number : 50 Question Id : 97675511686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R Q I IAHM 3T & G BT R 25 § TUT I T AT BT S 12.5 a4 § (P B 31 Q ¥ e A1) | fara Iuif & a1€ P 3R Q
DI 3T BT UG 15:14 B ST

Options :

IERCL

2.¥ 29y

3. % 499

4.% 6q9

Question Number : 51 Question Id : 97675511687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solution of oil and water contains 60 percent oil. To reduce the oil to 50 percent, 30 ml water is added into the mixture. What was the initial
quantity of mixture?

Options :
1. % 120
2.9 150



3. % 125
4. % 135

Question Number : 51 Question Id : 97675511687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

éa?wﬁ%aﬁaﬁéouﬁmaéa%léaﬁwm%mﬁwmﬁ%ﬁwﬁrwﬁmﬁwﬂqﬁﬁamw%ﬁr&rmﬁm'rﬁ%w
& o

Options :

1. #® 120

2.9 150

3. % 125

4. % 135

Question Number : 52 Question Id : 97675511688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the interest on a sum of Rs.1200 is more than the interest on Rs.1000 by Rs.120 in three years, then find the rate of interest per annum.
Options :

1. % 10 percent

2. % 20 percent

3. % 16 percent

4. % 12 percent

Question Number : 52 Question Id : 97675511688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e = T | 1200 F. BT YRIRT BT ST, 1000 T BT YARTIRT & TS H 120 TG AP &, 1 WIS 1ol & J1d Do
Options :

1. % 10 Ufa=rd

2. ¢ 20 Ufa=Id

3. % 16 Ufd=Id



4. % 12 gfa=rd

Question Number : 53 Question Id : 97675511689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man while travelling a distance of 200km by a car at a speed of 40 km/hr, his car breaks down at half the journey and the remaining distance is
covered by bus to reach his destination. If the total time taken to reach the destination is 4.5 hours, then find the speed of the bus.

Options :

1. ¥ 55 km/hr
2. ¥ 40 km/hr
3. % 50 km/hr
4. % 45 km/hr

Question Number : 53 Question Id : 97675511689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TN GRT 40 fpl/der &1 10 ¥ &R gRT 200 forHl &1 g3 70 R T, D! BR 3M1ef I IR WR1E 81 Ol § 3R 98 31U+ Tided dd
U & foTu QW g8 99 gRT IR F_l1 ¢ | A T dcb Ugan & oIt S & d 4.5 ° &1 T8 AT 81, Ot &9 I 111 J1d By |

Options :

1. % 55 fhul/Ear
2. % 40 fHHl/Ee
3. ¢ 50 fHl/Eer
4. % 45 fpdider

Question Number : 54 Question Id : 97675511690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of a boat in still water is 15 km/hr and the rate of current is 3 km/hr. Find the distance travelled downstream in 12 minutes.
Options :

1. % 1.2 km

2. % 1.8 km

3. % 24 km



4.4 3.6 km

Question Number : 54 Question Id : 97675511690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R Tt & T A1a @1 TIfd 15 fpeil/eier 8 iR o1 &t 7fd 3 fert/eier 81 12 e & ur ot fa=n & 9t 18 g 31d sifo |
Options :

1. % 1.2 foet

2. % 1.8 fodl

3. % 2.4 fodl

4. ¢ 3.6 foouit

Question Number : 55 Question Id : 97675511691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Efficiency of B is 37.5 percent less than A whereas efficiency of C is 60 percent less than B. A and C together can do a work in 42 days. Find
how long all three will together take to complete the same work?

Options :

1. # 21 days
2. ¥ 28 days
3. # 14 days
4. % 20 days

Question Number : 55 Question Id : 97675511691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g B BT &, A BT a1 H 37.5 U= HH § Sldidh C B! &I, B B ga-1 1 60 Ua=Id HH 1 A 3R C TH A1 42 & & T S Bl
RI TR FHA g1 A, BTG C o b 1Y T 39 w1 &I fva ao7a d§ QR e @i
Options :

1. % 21 faT
2. ¢ 28 faq
3. % 14189




4. % 20faT

Question Number : 56 Question Id : 97675511692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a square is circumscribed by circle of radius 6 cm, then what is the area of square?
Options :

| % 98 cm?
7 o T2 cm?
3 # 64 cm?

4. ® 36 cm?

Question Number : 56 Question Id : 97675511692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e U ol @ 6 T A1 & g1 gRT IReG fopan ST 8, df aFl T &t ol BRI
Options :

| % 98 {2

) 72 THER
3 % 64 T

4. ® 351‘§|ﬁ3

Question Number : 57 Question Id : 97675511693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The surface area of a sphere is 616 square cm. If its radius is changed so that area gets reduced by 75 percent, then find the new radius.
Options :

1. % 2.5cm

2. % 3cm

3.% 42 cm

4. ¥ 35cm

Question Number : 57 Question Id : 97675511693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁﬁlzﬁmqgﬁnammaﬁérﬂ% e 3P| AT &) 3 USHR d&al offd ¢ fob & 75 Ufa=rd ¥ »H g1 9T, df s Biear 31d
|

Options :

1. % 2.5 9HT
2. % 3gHt

3. % 4299
4. 3594

Question Number : 58 Question Id : 97675511694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table represents the total number of students studying courses P, Q, R, S and T across eight institutes, i.e. A, B, C, D, E, F, G and H.

Institutes
Courses
A B C D E F G
P 520 | 410 | 550 | 450 | 570 | 210 | 750 | 450
Q 410 | 540 | 610 | 580 | 380 | 550 [ 570 [ 310
R 430 | 210 | 390 | 330 | 730 | 510 [ 530 (| 480
g 350 [ 280 [ 570 | 320 | 410 | 480 | 610 | 460
T 370 | 480 [ 380 | 250 | 180 | 370 | 590 | 660




What is the ratio of the total number of students studying in Institute A to the total number of students studying in Institute H?
Options :

1. ¥ 52:59

2. ® 52:55

3. % 55:59

4. % 59:61

Question Number : 58 Question Id : 97675511694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&} TS TIRTaT, 318 TRIMT A, B, C, D, E, F, G IR H H UIGIHH P, Q, R, S 3R T &7 T B AT SHI D1 G AT ! &=l gl

T k]
A B C D E F - H
P 520 | 410 | 550 (450 | 570 | 210 | 750 | 450
Q 410 | 540 | 610 | 580 | 380 | 550 | 570 | 310
R 430 | 210 | 390 | 530 | 730 | 510 | 530 | 480
5 350 | 280 | 570 | 320 | 410 | 480 | 610 | 460
T 370 | 480 | 380 | 250 | 180 370 | 590 | 660

TRIM A T UgH a1d ST B S AT 6T U YRIM H H UgH Tdl B &1 o TRed {1 g2
Options :

1. ¥ 52:59

2. % 52:55

3. % 55:59

4. % 59:61

Question Number : 59 Question Id : 97675511695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table represents the total number of students studying courses P, Q, R, S and T across eight institutes, i.e. A, B, C, D, E, F, G and H.



Institutes

Courses
A B C D E F H
P 520 | 410 | 550 | 450 [ 570 | 210 [ 750 | 450
410 | 540 [ 610 [ 580 | 380 | 550 | 570 | 310
430 | 210 [ 390 [ 530 | 730 | 510 | 530 | 480

350 | 280 | 570 | 320 | 410 | 480 | 610 [ 460
370 | 480 | 380 | 250 | 180 | 370 | 590 | 660

H | we | O

The number of students studying Course Q in Institute B forms what per cent of the total number of students in Institute C?
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 14

2.17

3.11

4.20

Question Number : 59 Question Id : 97675511695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&} TS AIfQIpT, 316 TRIFT A, B, C, D, E, F, G IR H H UTGUHH P, Q, R, S 3R T HT LT B dTdl B! &1 el T Bl gt g |

e ik
A B C D E F G H
P 520 | 410 | 550 [ 450 | 570 210 | 750 | 450
Q 410 | 540 | 610 | 580 | 380 | 550 | 570 | 310
B 430 | 210 | 390 | 530 | 730 | 510 | 530 | 480
= 350 | 280 | 570 | 320 [ 410 | 450 | 610 | 460
T 370 | 480 | 380 | 250 | 180 | 370 | 590 | 660




TR B H UTGIHhH Q UeH ald BT &1 W&, HRIM ¢ T S| B S AT BT [T W= 82

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 14

2.17

3.11

4.20

Question Number : 60 Question Id : 97675511696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The graph given below represents the number of users of an ABC brand services across in cities P, Q, R, S and T.

750

700

650

600
550
500
450 I
400 : . : .
P Q R 5 T

CITY

What is the total number of users of brand ABC across all five cities together?
Options :
1. # 2700



2. ¥ 3000
3. % 3100
4. % 2900

Question Number : 60 Question Id : 97675511696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR fear T A p, Q, R, S 3R T WeRI H ABC siTs Ia13ft & ST drsil ot T& ol g2 g1

750

700

650

600
550
500 -
450
400 : : : :
P Q R 5 T

TR
Tt e 2Rl § AR ABC S8 & SUANIahdisl &1 Ha Teat [t g2

Options :
1. # 2700
2. ¥ 3000
3. % 3100
4. % 2900
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Question Number : 61 Question Id : 97675511697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :
1. # It involves to print large sums of money and distributing it to the public.

2. ¥ Friedman used the term to signify "unexpectedly dumping money onto a struggling economy with the intention to shock it out of a deep
slump."



3. % This is an unconventional monetary policy tool aimed with bringing a flagging economy back on track.

4. ® Tt seeks to goad people into spending more and thereby to boost the sagging economy.

Question Number : 61 Question Id : 97675511697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :
1. # It involves to print large sums of money and distributing it to the public.

2. ¥ Friedman used the term to signify "unexpectedly dumping money onto a struggling economy with the intention to shock it out of a deep
slump."

3. # This is an unconventional monetary policy tool aimed with bringing a flagging economy back on track.

4. % It seeks to goad people into spending more and thereby to boost the sagging economy.

Question Number : 62 Question Id : 97675511698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

His assistants have and are still doing excellent work for the organisation .
Options :

1. ¥ His assistants have and

2. % are still doing

3. % excellent work for the organisation

4. ® No error

Question Number : 62 Question Id : 97675511698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

His assistants have and are still doing excellent work for the organisation .



Options :

1. ¥ His assistants have and

2. % are still doing

3. # excellent work for the organisation

4. % No error

Question Number : 63 Question Id : 97675511699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

After it’s unsuccessful bid to sell Air India in 2018, the government this time has decided to offload its entire stake.
Options :

1. % it

2. % there

3. % its

4. % No substitution required

Question Number : 63 Question Id : 97675511699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

After it’s unsuccessful bid to sell Air India in 2018, the government this time has decided to oftload its entire stake.
Options :

1. % it

2. % there

3. ¥ its

4. # No substitution required

Question Number : 64 Question Id : 97675511700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

The network is enough strong and I can say that the mobile networks in India now are better or at par with any network in the world.
Options :

1. # enough strength

2. ¥ strong enough

3. # strongly enough

4. # No substitution required

Question Number : 64 Question Id : 97675511700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

The network is enough strong and I can say that the mobile networks in India now are better or at par with any network in the world.
Options :

1. * enough strength

2. % strong enough

3. # strongly enough

4. % No substitution required

Question Number : 65 Question Id : 97675511701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She broke her foot recently in practice and will not be competing after Christmas.
Options :
1. # since

2. % apart



3. 4 until

4. % for

Question Number : 65 Question Id : 97675511701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She broke her foot recently in practice and will not be competing after Christmas.
Options :

1. # since

2. % apart

3. ¥ until

4. # for

Question Number : 66 Question Id : 97675511702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Indoor plants not only add more detailing to the room but also create a/an flow of oxygen.
Options :

1. % unsteady

2. % hazardous

3. % flexible

4. ¢ steady

Question Number : 66 Question Id : 97675511702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Indoor plants not only add more detailing to the room but also create a/an flow of oxygen.



Options :

1. # unsteady
2. # hazardous
3. # flexible
4. ¥ steady

Question Number : 67 Question Id : 97675511703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. Countries across the globe have slowly begun to lift their lockdown restrictions.

Q. As adults have slowly adapted to the new normal, a rapid change of the lifestyles can have an immense impact on the minds of the little ones.
R. In this era of stepping out only when necessary, it is the children who bear the maximum brunt of the isolation.

S. The truth is that the pandemic is far from over.

Options :

1. # QRPS
2. % RSQP
3. ¥ SRPQ
4. ¥ PSRQ

Question Number : 67 Question Id : 97675511703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. Countries across the globe have slowly begun to lift their lockdown restrictions.

Q. As adults have slowly adapted to the new normal, a rapid change of the lifestyles can have an immense impact on the minds of the little ones.
R. In this era of stepping out only when necessary, it is the children who bear the maximum brunt of the isolation.

S. The truth is that the pandemic is far from over.

Options :

1. # QRPS
2. % RSQP
3. ¥ SRPQ



4. ¥ PSRQ

Question Number : 68 Question Id : 97675511704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P: When all the credit worthy people were given loans to a logical limit, they ceased to be a part of the market.

Q: Even this would have been understandable if it could work as an eye opener.

R: Owing to the materialistic culture elsewhere, it was possible to keep selling newer products to the consumers despite having existing ones
which served equally well.

S: They were lured through advertising and marketing techniques of 'dustbinisation' of the customer; and then finally, once they became ready
customers, they were given loans and credits to help them by more and more.

Options :

1. # PRQS
2. ¥ RSPQ
3. % QSPR
4. % RPQS

Question Number : 68 Question Id : 97675511704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P: When all the credit worthy people were given loans to a logical limit, they ceased to be a part of the market.

Q: Even this would have been understandable if it could work as an eye opener.

R: Owing to the materialistic culture elsewhere, it was possible to keep selling newer products to the consumers despite having existing ones
which served equally well.

S: They were lured through advertising and marketing techniques of 'dustbinisation' of the customer; and then finally, once they became ready
customers, they were given loans and credits to help them by more and more.

Options :

1. % PRQS
2. ¥ RSPQ
3. ¥ QSPR
4. % RPQS



Question Number : 69 Question Id : 97675511705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

CONSENSUS
Options :

1. # Denial

2. ¥ Agreement
3. % Dissension
4. # Discord

Question Number : 69 Question Id : 97675511705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

CONSENSUS
Options :

1. # Denial

2. ¥ Agreement
3. % Dissension
4. # Discord

Question Number : 70 Question Id : 97675511706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

PRODIGAL
Options :

1. ¥ Parsimonious



2. # Jabbering
3. #* Generous
4. % Lavish

Question Number : 70 Question Id : 97675511706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

PRODIGAL
Options :

1. ¥ Parsimonious
2. % Jabbering

3. ¥ Generous

4. % Lavish

Question Number : 71 Question Id : 97675511707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Intimidiate

2. # Intemidate

3. % Intimidate

4. * Intimediate

Question Number : 71 Question Id : 97675511707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Intimidiate



2. * Intemidate
3. ¥ Intimidate

4. * Intimediate

Question Number : 72 Question Id : 97675511708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Glamourous

2. # Grandeur

3. % Grievous

4. # Gauge

Question Number : 72 Question Id : 97675511708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Glamourous

2. # Grandeur

3. #® Grievous

4. ¥ Gauge

Question Number : 73 Question Id : 97675511709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Call it a day
Options :

1. # Better to arrive late than not to come at all



2. % Stop working on something
3. * Don't be so critical
4. % Good luck

Question Number : 73 Question Id : 97675511709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Call it a day

Options :

1. # Better to arrive late than not to come at all
2. % Stop working on something

3. % Don't be so critical

4. % Good luck

Question Number : 74 Question Id : 97675511710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative which best expresses the meaning of the idiom/phrase bold in the sentence.

To have a green thumb means-

Options :

1. ¥ One's nails are painted green

2. # One is artistic

3. ¥ To have a natural interest in gardening

4. # One has a green tattoo on the thumb

Question Number : 74 Question Id : 97675511710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative which best expresses the meaning of the idiom/phrase bold in the sentence.



To have a green thumb means-

Options :

1. ¥ One's nails are painted green

2. # One is artistic

3. ¥ To have a natural interest in gardening

4. # One has a green tattoo on the thumb

Question Number : 75 Question Id : 97675511711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Killing of one's wife
Options :

1. # Regicide

2. # Sororicide

3. % Suicide

4. ¥ Uxoricide

Question Number : 75 Question Id : 97675511711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Killing of one's wife
Options :
1. # Regicide

2. * Sororicide

3. # Suicide

4. % Uxoricide

Sub-Section Number : 2
Sub-Section Id : 976755845

Question Shuffling Allowed : Yes



Question Id : 97675511712 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Against Cassius's advice, Brutus allows Mark Antony to speak a funeral oration for Caesar in the market place. He is allowed under the condition
that first Brutus must address the people to explain the conspirators' reasons and their fears for Caesar's ambition. After Brutus speaks, the crowd
becomes calm and supports his cause. However, Antony, in his speech, questions the motives of the conspirators and reminds the crowd of
Caesar's benevolent actions and of his refusal to accept the crown. He also reads them Caesar's will, in which Caesar leaves public land and
money to each Roman citizen. Antony's speech stirs the crowd into a murderous riot, and the conspirators are forced to flee from the city.

Brutus and Cassius gather an army in Northern Greece and prepare to fight the forces led by Mark Antony. Antony has joined with Caesar's
great-nephew, Octavius, and with a man called Lepidus. Away from Rome, Brutus and Cassius are filled with doubts about the future and quarrel
over funds for their soldiers' pay. After making amends, they prepare to engage Antony's army at Philippi, despite Cassius' misgivings about the
site. Brutus stoically receives news of his wife's suicide in Rome. He then sees Caesar's ghost as he tries to rest and is unable to sleep on the eve
of the conflict.

In the battle, the Republicans (led by Brutus) appear to be winning at first. But when Cassius' messenger's horse seems to be overtaken by the
enemy, Cassius fears the worst and gets his servant to help him to a quick death. After finding Cassius's body, Brutus commits suicide. He
believes this to be the only honourable option left to him. Antony, triumphant on the battlefield, praises Brutus as 'the noblest Roman of them all'
and orders a formal funeral before he and Octavius return to rule in Rome.

Sub questions

Question Number : 76 Question Id : 97675511713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After whose speech, the crowd got infuriated and the conspirator had to flee?
Options :

1. * Brutus’ speech

2. # Lepidus’ speech

3. % Octavious’ speech

4. ¥ Antony’s speech

Question Number : 77 Question Id : 97675511714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Why did Mark Antony remind the crowd of Caesar’s benevolent actions and denial of crown?
Options :

1. ¥ to avenge Caesar’s murder by infuriating the crowd

2. % to tell the crowd that Brutus was a noble man

3. * to calm down the crowd that why he was killed

4. % to acquit the murder’s of their crime by doing so

Question Number : 78 Question Id : 97675511715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who according to the given passage, praises Brutus after his death?
Options :

1. # Lepidus

2. % Cassius

3. ¥ Mark Antony

4. % Qctavious

Question Number : 79 Question Id : 97675511716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the meaning to the given word “Stoically”?
Options :

1. # edgily

2. # dolorously

3. ¥ impassively

4. % fervidly

Question Number : 80 Question Id : 97675511717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct according to the given passage?
Options :



1. # Octavious praised Brutus saying that he was 'the noblest Roman of them all'.
2. # Lepidus stoically receives news of his wife's suicide in Rome.
3. % Mark Antony was Caesar’s great nephew and led an Army in Northern Greece.

4. ¥ Antony's speech stirred the crowd into a murderous riot and the conspirators had to flee.

Question Id : 97675511712 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below based on the passage.

Against Cassius's advice, Brutus allows Mark Antony to speak a funeral oration for Caesar in the market place. He is allowed under the condition
that first Brutus must address the people to explain the conspirators' reasons and their fears for Caesar's ambition. After Brutus speaks, the crowd
becomes calm and supports his cause. However, Antony, in his speech, questions the motives of the conspirators and reminds the crowd of
Caesar's benevolent actions and of his refusal to accept the crown. He also reads them Caesar's will, in which Caesar leaves public land and
money to each Roman citizen. Antony's speech stirs the crowd into a murderous riot, and the conspirators are forced to flee from the city.

Brutus and Cassius gather an army in Northern Greece and prepare to fight the forces led by Mark Antony. Antony has joined with Caesar's
great-nephew, Octavius, and with a man called Lepidus. Away from Rome, Brutus and Cassius are filled with doubts about the future and quarrel
over funds for their soldiers' pay. After making amends, they prepare to engage Antony's army at Philippi, despite Cassius' misgivings about the
site. Brutus stoically receives news of his wife's suicide in Rome. He then sees Caesar's ghost as he tries to rest and is unable to sleep on the eve
of the conflict.

In the battle, the Republicans (led by Brutus) appear to be winning at first. But when Cassius' messenger's horse seems to be overtaken by the
enemy, Cassius fears the worst and gets his servant to help him to a quick death. After finding Cassius's body, Brutus commits suicide. He
believes this to be the only honourable option left to him. Antony, triumphant on the battlefield, praises Brutus as 'the noblest Roman of them all'
and orders a formal funeral before he and Octavius return to rule in Rome.

Sub questions

Question Number : 76 Question Id : 97675511713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After whose speech, the crowd got infuriated and the conspirator had to flee?
Options :

1. # Brutus’ speech

2. # Lepidus’ speech

3. % Octavious’ speech



4. ¥ Antony’s speech

Question Number : 77 Question Id : 97675511714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Mark Antony remind the crowd of Caesar’s benevolent actions and denial of crown?
Options :

1. ¥ to avenge Caesar’s murder by infuriating the crowd

2. % to tell the crowd that Brutus was a noble man

3. #* to calm down the crowd that why he was killed

4. # to acquit the murder’s of their crime by doing so

Question Number : 78 Question Id : 97675511715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who according to the given passage, praises Brutus after his death?
Options :

1. # Lepidus

2. # Cassius

3. % Mark Antony

4. % Qctavious

Question Number : 79 Question Id : 97675511716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the meaning to the given word “Stoically”?
Options :

1. # edgily

2. % dolorously

3. % impassively

4. #® fervidly

Question Number : 80 Question Id : 97675511717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct according to the given passage?

Options :

1. # Octavious praised Brutus saying that he was 'the noblest Roman of them all'.

2. # Lepidus stoically receives news of his wife's suicide in Rome.

3. % Mark Antony was Caesar’s great nephew and led an Army in Northern Greece.

4. ¥ Antony's speech stirred the crowd into a murderous riot and the conspirators had to flee.
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Question Number : 81 Question Id : 97675511718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfaRad o ¥ "sraTfae &1 U5l 6id-fowde dH-a1 82
Options :

1. % 3 + dRN®

2. % 3fTGl+ 3D

3. % 3Gl + 3dRD

4. 3 + 3fcRp

Question Number : 81 Question Id : 97675511718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 TR o1 gg! dfY-fowde d-a1 g2
Options :

1. % 3M< + GIRD

2. % 3Gl + 3dRD

3. ® 3fF=al + 3(dRb

4. ¢ < + RSP

Question Number : 82 Question Id : 97675511719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=faRad § ¥ SH-91 iR RA Y 31 52
Options :

1. ¢ 9% |

2. % dlg!

3. % 33T !




4. % QLG

Question Number : 82 Question Id : 97675511719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEAfIRId & O -9 [RIPRAIS 3 g7
Options :

1. {9 1

2. % dlg !

3. % 33T !

4. % B!

Question Number : 83 Question Id : 97675511720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRId & & ol ST BT TN R D IH-9T RTeq ST 7T 62
Options :

1. % QR

2. % qferd

3. ¢ ¢loldld

4. % YT el

Question Number : 83 Question Id : 97675511720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR & & el SRR BT TIRT R D IH-91 /o5 ST 11 62
Options :

1. % QeI

2. % ferd

3. ¢ dINIdTd

4, % el




Question Number : 84 Question Id : 97675511721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 39T & | 919 § Ugad "ggAI gl
Options :

1. % gHpH® fopal
2. % o fopa

3. % oot fohdl
4. ¢ 3fEHHS foa

Question Number : 84 Question Id : 97675511721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 391 8 |' a1 § Uged g gl
Options :

1. % gpHP fopar
2. % IR fopa

3. % gdapIiere fohdl
4. ¢ HUD o

Question Number : 85 Question Id : 97675511722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefoied o 9 2reg-gm & Tal 31f-0G &1 99 Bifore-

&S] - Ul
Options :

1 * - 7

2. % YR - dgll
3. ¥ Y& - S8



4, % ggIc - U

Question Number : 85 Question Id : 97675511722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad o 9 wree-gm & T8t 310 &1 997 PIfore-

&Nl - AT
Options :

1% 92- 79

2. % R - dgl
3. ¥ Yq - dgl-l
4. % GEIGR - U

Question Number : 86 Question Id : 97675511723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & @ g ad-1l a1l Reg BT Tg PIfore-
Options :

1. % IRIR

2. ¢ IAYfs

3. % SFIeId

4. % JHUBY

Question Number : 86 Question Id : 97675511723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ 3 9T aTd Xeg BT 99 HIToTE-
Options :

1. % JCRIR

2. ¢ IAYS




3. % SFURId
4. % YD

Question Number : 87 Question Id : 97675511724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed o ¥ per o fads veg -1 82
Options :

1. ¢ &9

2. % U387

3. % 3ffed

4. % giq

Question Number : 87 Question Id : 97675511724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fafad § 4 U &1 fad e HH-91 82
Options :

1. ¢ &I

2. % Uqd

3. % 3ffed

4. % gi¥q

Question Number : 88 Question Id : 97675511725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTeRIieT o foTT Ueh Req BT =TT HITTT-

SR I = &
Options :

1. % Jgur



2. % SeTHl
3. ¥ 3RIgUl
4. % 3RY

Question Number : 88 Question Id : 97675511725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTeRIieT o foTT Ueh Req BT =TT HITTT-

SR I A Al
Options :

1. % gl

2. % SEIH!
3. ¢ ARGl
4. % 39

Question Number : 89 Question Id : 97675511726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafaa & 3 foar mn 91 o PR BT IR0 82
T & THRDR g |

Options :

1. ¥ DU DPRD

2. ¢ JUH HRDB

3. ® 3UIQH PR
4. % 3{YBIU HRD

Question Number : 89 Question Id : 97675511726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafafad 7 foar man a1 f5a HRE &1 3R 82




TS Pl TR B |
Options :

1. # PO DHRD

2. ¢ YT BRD
3. % (I HRD
4. % HYHU HRD

Question Number : 90 Question Id : 97675511727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFeffed & 9 SH-91 2rsa e 181 8
Options :

1. #® dgld

2. % dd

3. % 100

4. ¥ HY9

Question Number : 90 Question Id : 97675511727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT & & HIH-91 XTeg i T a1 82
Options :

1. ¥ dgld

2. % dd

3. % T0ET

4. ¢ HY

Question Number : 91 Question Id : 97675511728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ao § @ H19-a1 arey, fAyrars are g2
Options :

1. % BTN H oI i

2. T XD T ek IS |

3. % S SISO 39T g1 HIe |

4. % g fAfTad 78t g & 98 e mwm

Question Number : 91 Question Id : 97675511728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fREferfed & 9 o9-91 9/, f[Rymares ared g2
Options :

1. % BTN H SI9 il

2. ¢ A ARID] T 3haR TS T

3. % S OIT SIQT o g 1|

4. % gg fAf%ad 781 g fob a8 P smwm

Question Number : 92 Question Id : 97675511729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fafad o O Y e+t aral a1 &1 T BHifoTe-
Options :

1. ¢ ST FH3] U BT T 30T SfaeR @l e
2. % T ID! T TR IR BT

3. % g & 30 Wed R IIRI 5|

4. % FIR AT TERI g

Question Number : 92 Question Id : 97675511729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmferRad # ¥ < dc-1 aTel 91 &1 99 BIToTg-




Options :

1. ¢ 3T B} UM 61 U 3T 3IaeR @l faa|
2. % T 3P I1d W W B

3. % Yl &I 304 Yed W IR 3|

4. % IR AfYH T B

Question Number : 93 Question Id : 97675511730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fefad & 3 geravt At &1 Hg JraT &1 3 3 g2
Options :

1. % GTeT § hIel gl

2. ¢ gl o T g |

3. % QI AT

4, % THD 3l DT

Question Number : 93 Question Id : 97675511730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfRad & @ geTarT Ueft &1 Gg e &1 37 g7
Options :

1. % aref § Tal I

2. v ol fea o g x|

3. % TATQ! AT

4. & JHD 3] DT

Question Number : 94 Question Id : 97675511731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faRad & I foy dieifad &1 o » SR I O e, smce & g1 Ugard 8- " 82

Options :



1. % Sy o7eht 3R e ot $& 7 3mal
2. % gl 9 9ME fd agf Se &fd|

3. % S AR 991 U89 AR IR

4. ¢ S8 Pled ST 3R UM &d &

Question Number : 94 Question Id : 97675511731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frforaa & @ forg Aepifaa &1 o1 » HR J O fam, smieer g1 ugand T8+ 82
Options :

1. % Sy o7eht 3R e off $& 7 sm|

2. % gl 9 Y Ifd 9871 WY Hid|

3. % S 4R 931 UgdH IR IR |

4. ¥ g HIed ST 3R U Sd e

Question Number : 95 Question Id : 97675511732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y P IHY o Frafad fbar Sirar 8, IS9P 1 HTTINT BIdT & |
Options :

1. % guifr™ o

2. % ARSI g

3. ¢ AR g

4. % Qragfa™ e

Question Number : 95 Question Id : 97675511732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT P IHY o Trafad far Sirar 8, IS9P a1 HTUINT BT g |

Options :

1. ® guifeR™ g




2. % gR&fRM g

3. ¢ SUfRM g

4. % ArgafaH forg

Sub-Section Number : 2
Sub-Section Id : 976755847
Question Shuffling Allowed : Yes

Question Id : 97675511733 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

R TRl T ATYdS 3T R U=HI b I aforT-

fR1en 1 I SR Tfafies YareR o g0 et Hifae ufkaxr & qofdan ufkafdd o faar § $iR Sita & smrend fofiad 3 € 7,
8] Aifed, el 4H 3R G B 30 A1 A Sfetpd B AId-[IbT I Uebien! o1 faan & | el 2dred! # fadr & 9 Ui & 81y
Y TR 7 & 81y H ugd U §, fagm & &1y § uga U § 3R 59 o et H ug e o1 3 mra-snfa o1 e off 8 whar 81 3feng
AfH R D T DI Y- (B RIT B B HTIRISHl 5, FoI faH SHR T LRARR &7 81 7 § ST | HAfad ! sl I
RTSC 1 &S & ST ¢ al faT HEIRR & 97Tl 8 | 39 I &I U &0 WIH- IGdHR a1 SHU-fAhic &I AHa-0Y SR didbfed & Jaial
%ﬂ%i’n U Hifde el &1 Wrt AT 3i1ST 3= SAfdaa & Ui SITRATAH 81 8 3R U &7 30 3@ & Ja H YhTrd

|

Sub questions

Question Number : 96 Question Id : 97675511734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR & IR o 1 &Gl G I Bt &sdl 9 St & al HRIRR § ST 8 |
Options :

1. % fRraf

2. % HHd

3. ¢ fae

4. % fqory

Question Number : 97 Question Id : 97675511735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ST TR & SR, a fO7H &1 HRIRR 574 9 Y AP Tl g2
Options :

1. % JAP &0 U KT & o= H BT gl |

2. % SR Wifde Afeadl & T HRb |

3. % Hal 3R 4 DI THiD! a1 B

4. ¢ A - 3nfdre qeul &) fawRid e |

Question Number : 98 Question Id : 97675511736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frffad & ¥ «efgar o1 yafgar e w182
Options :

1. ® J=dl

2. ¢ J=odl

3. % o=y

4. % ARIQ

Question Number : 99 Question Id : 97675511737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & STIR HI-91 S Yol 9 g2

Options :

1. % 3Ry Wide wfdaal &1 T A e 3o aafadd & Ul STTa i1 ST B |

2. % SR Wi Td I Afaaal BT Wt TS 30+ Afadd & Ufd 9gd STRIEH /|

3. % SR Hifde Td IuaAE Wfaddl &1 it 31l 30 fadd & fd 9gd SUTa el ¢ |
4. ¢ ORI Wfdew Afdadt &1 W@ A TS 30 Afadd & Ufd STRIEH el ]

Question Number : 100 Question Id : 97675511738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR & TR, TS HT HFG 30 Afddd MR 3ifidd & ufd safe Sierg § wife




Options :

1. ¢ 9% fogm &) faeiae wfdaal @ v B

2. % 98 YIS XdIee! H f[Ah™ & I I deadi g

3. % g Sfla B AT Tirfeldr ¢ ST ]|

4. % 98 Siia- B AU faeprg & 3 & 9add T |

Question Id : 97675511733 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

FfIREd =T &1 AT gd e ST HR U=AT & IR GIoTd-

1 BT 31D SR WIS FETUR Ta= gHA STg1 Hifdd TRAR 1 guiaan uRafid R fad § $1R Siia P Sy MaRiiad ¢ & &,
5] IR, el U IR TR D U <A1 A SigShd B HIHA-fADR Pl Uebieh! a1 a1 8 | et 2dred] # fabTd & 3 Ul & g1y
I FersR 795 & 814 W Ugd U 8, fax1 & &1y W Ugd U 3R 39 s/ Tt B UgeH o1 31 Ha-oifa a7 < o 8 W 3| 39
A SR Sfdd Yl o1 WrY-T1Y fIHRId H7 31 Taxaehd ¢, ) fagm g0 fRTe RARR &1 814 7 97 SY | afdd & efgar afe
TS B &S & STl § <l TR HEIRIR &1 Sl & | 9 I &1 U &107 JTH G 51 UG Ie &I AMHa-UH 3R didbied &) Jaial
%WI 3rafte Hifde faaal o1 WTHt 7Fd 3117 319 Sfdad & Ui SITRUTET 781 & 3R YA 0T 30 KT &b Ja H YR
|
Sub questions

Question Number : 96 Question Id : 97675511734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TTRIRT & SR G B! &G TG I BT &sdl & It g al YRR & ST |
Options :

1. % fRuem

2. % {9

3. ¢ fagm

4. % fqrg

Question Number : 97 Question Id : 97675511735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U T & SR, THd fIFH BT IR 574 F 4 A Fobdll 52
Options :

1. % U &1 U &I b o= § ABTRA gl |

2. % U Wifdw il i T b |

3. % FHdl 3R YH P Thid! &1 B

4.« AP - SMfAD G B faHRid Ixb |

Question Number : 98 Question Id : 97675511736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i & @ «agdr o1 yaiaar e 182
Options :

1. # Il

2. ¢ J=5dl

3. % faqwran

4. % 3RTd

Question Number : 99 Question Id : 97675511737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T & SR -1 HYF Ioiadr 9 g2

Options :

1. % 3R Wifds Afdadl &1 Wi AFa TS 30+ Afadd o Ul STRITEH 8Id1 ST 8T 5 |

2. % IR Wifdew Td I Wfadal 1 Wt TS 309 Afadd & Ufd 9gd STRIEH /|

3. % ORI Wi Td ITafe Qe &1 Wt 3e 23U ek & ufd 9gd a8l 8|
4. ORI Hifdw AfGad &1 W 7Fa 311eT 3+ SAfadd o Ufd STATaH T8l g

Question Number : 100 Question Id : 97675511738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, TS BT HMd U Ffadd IR I o Ui SHIeTE Kabiq § Hifdh

Options :




1. ¢ 98 fagm &) fasdas Sfaaal @ vadfa g1

2. % 98 TP YdIsd] H fabr & 9 &l deadi g

3. % gg Sfla Y TR Tirfedr ¢ ST ]|

4. % 98 Siia- &I TR AP & T A 9ed ar gl
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Question Shuffling Allowed :

Question Number : 101 Question Id : 97675511739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Disciplinel

6
976755390
0

0

No

No

0
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No

Disciplinel

976755718
1
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20

20

20

Yes

1
976755848
Yes



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Who of the following said that “The king should initiate action against the leaders of the revolt because it is the leaders who provide leadership to
a revolt. In no case should he use force against the multitude of people because it may result in a widespread bloodshed™?

Options :

1. ¥ Kautilya

2. #* Machiavelli
3. #* Confucius
4. # John Locke

Question Number : 101 Question Id : 97675511739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoRad o § forem wal o =To &) fagig & Adrsil & RIars Rars Y= HRA1 et Fifds T dat a1 g Sl fAGIE B A e PR
g1 foraht off g1erd H I A ) offs & Raes 9 TN el AT AT il ST U aauTd gl Tehdl 872

Options :

1. ¥ PifeeT

2. % Afardef
3. % HRIREY

4. % W9 dlep

Question Number : 102 Question Id : 97675511740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): The ‘carrot and stick’ policy is a dual policy, which aims at driving a wedge between the moderate and extremist elements in the
opposition

Reason (R): The government can offer rewards and concessions to the moderates but at the same time, it can continue its military operations
against the extremists.



Options :

1. #® Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. # (A)is true, but (R) is false.

4. % (A) is false, but (R) is true.

Question Number : 102 Question Id : 97675511740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fo  FYF RRU MU §, U 1 3fHYT (T) 3R g P! HRUT (3R) Hel T &
i faU 7TU Fe T gt IR &1 T DifoTT -
aTal (U): ‘'$ic Us fea ' fifd te Sigdt i 7, orget Sexu fauer & Igrard) ok avaudt adl & dia U Sid Iar &

gm(&n?) . PR TRHAURET B TIBR 3R NI < Tobd g Al 1Y 8 98 TREUYE & A 3= 37 I ol SRt 3@ ahell
|

Options :

1. % (@) 3R (3R) I T § 3R (31R) (T ST G5! AT 3

2. ¥ (U) 3R (3R) T 9 8, AP (31R) (T) BT g1 AT a1 5|

3. % (U) J9 8, AP (3IR) TTerd B

4. % (T)TAd 7, A (3R) T 2

Question Number : 103 Question Id : 97675511741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the List - I (Books) and List - II (Authors) and select the correct answer from the code given below:



List - I (Books) List - IT (Authors)

A. An Essay concerning human understanding 1. Aristotle

B. Leviathan 2. John Locke

C. Discourses on the First Ten Books of Titus Livius 3. Niccolo Machiavelli
D. Politics 4. Thomas Hobbes

Options :

1.*% (A)-1,(B)-2,(C)-3,(D)-4
2.%(A)-2,(B)-4,(0C)-3,(D)-1
3.% (A)-3,B)-2,(0)-1,(D)-4
4. % (A)-3,(B)-1,(C)-4,(D)-2

Question Number : 103 Question Id : 97675511741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt - 1 (QI) 3R T - 11 (R dp) 1 T & 3R = T T #is 9§ uet SR 4

Tl - | (IAd) I - 1l ()
A. F@WW 3'1?3@%7[ l,aﬂﬁ
B. 3y 2. S didb
C fEIY 31§ B ¢ g3 31 crged feifdqd | 3 g afraddh
D. gifeifeas 4 ol gl
Options :

1. % (A)-1,(B)-2,(C)-3,(D)-4
2.¥ (A)-2,(B)-4,(C)-3,(D)- 1
3.% (A)-3,(B)-2,(0)-1,(D)- 4



4. % (A)-3,(B)-1,(C)-4,(D)-2

Question Number : 104 Question Id : 97675511742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not one of the inconveniences in the state of nature, according to John Locke?

Options :

1. # want of a legislature authority to declare law

2. # of an impartial judge to decide cases of violation of law
3. # Jack of an impersonal executioner of the law

4. ¥ It is constantly in the state of war.

Question Number : 104 Question Id : 97675511742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S Tl & SR, Ui & I B upla ) srawin 8§ 81 arelt argfaemaif 3 us T8t 82
Options :

1. % P A B & ol U fqumRiesT wifiem o & sragehd

2. % e e BT B & Iearo &b HHA! BT Bl BT

3. % B & U HTfadd (TG DI HH

4. ¥ U8 WAR g ! U A B

Question Number : 105 Question Id : 97675511743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has written the essay "what is the origin of inequality among men, and is it authorised by natural law?"
Options :

1. ¥ Jean Jacques Rousseau

2. % Immanuel Kant

3. # Edmund Burke

4. ® Alexis De Tocqueville



Question Number : 105 Question Id : 97675511743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & 3 fooem Ay forar § 'gow § SrIHMdT &1 Sl &1 €, 3R 1 I8 Wdhiad I gRT TG d 82"("what is the origin of

inequality among men, and is it authorised by natural law?")
Options :

1. ¢ S Seg =9 (Jean Jacques Rousseau)

2. % WW (Immanuel Kant)

3. % TSHS b (Edmund Burke)

4. % TR St elpfad (Alexis De Tocqueville)

Question Number : 106 Question Id : 97675511744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following regarding to Rousseau’s Conception of General Will:

1. Rousseau first wrote about the concept of General Will in his Discourse on Political Economy

2. He asserts that the generality of the will is not so much a matter of numbers as of intrinsic quality and goodness.

3. By making the General Will sovereign and individuals as participants in the General Will, Rousseau reconciled authority with freedom.
4. He asserted that General will aims always at the public good and is different from the will of all.

Select the correct answer from the code given:

Options :

1. % land 4

2. % land 3

3. % Only 4
4.4 1,2,3and 4

Question Number : 106 Question Id : 97675511744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T P AN ST (SR [9eT) D STYRUT o Hae A HaferiRad | fdaR &

1. T A G UgS SR A B aURON &6 TR H 30 oo rfouawyt iR sarsa # ferar ot
2.8 OIR SR Hed g [P oI-Rd [qd B AT ST $1 &1 o1 & foTa-1 o SHTdRes orad 3R 38T 1 g




3. R fad &I 9uY SR faqdl & SRa fad o Tgurl a6, 41 3 Wadad & 91 SR &I g8 fomn
4. 3B SR TP Hgl fob TR fad GHRT SaT bt HaTs & ford gl § iR I+ ot 381 F 3T gl g
f3U T e T Tl SR BT TG HIIT:

Options :

1. % 134
2. % 1 3R 3
3. % Bhad 4
4.9 1,2,331R 4

Question Number : 107 Question Id : 97675511745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following credited the Bentham’s Panopticon as a new technology of power?
Options :

1. ¥ Michael Foucault

2. % Kymlicka

3. % ].S. Mill

4. # John Rawls

Question Number : 107 Question Id : 97675511745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed & I foe sl & TP &I Afdd &1 Ue -5 da-id & &0 8§ 99 faam
Options :

1. ¥ TS6hd BidIee

2. ® fopmferepT

3. % 9g9. fid

4. % S

Question Number : 108 Question Id : 97675511746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following kind of liberty is not one of the specific liberties that J.S. Mill advocated in his book ‘On Liberty’?
Options :

1. ® The Liberty of Thought and Expression

2. ® The Liberty of Action

3. ® The Liberty of Association

4. ¢ Liberty to acquire private property

Question Number : 108 Question Id : 97675511746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 o1 A Tdad 37 fafRy Wdzdrell § 9 U 781 & off o T4, firet A 3ru-t g '3 ferech # aebrerd sl
Options :

1. % faaR 3R sifieafad Pt Wdadl

2. % B DI WA

3. % grggd & aaAdl

4. « TSl Tufy SifSia oA &t Wl

Question Number : 109 Question Id : 97675511747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are three dimensions to Marxian dialectical materialism. Which of the following is not one of them?

Options :

1. ® The law of transformation of quantity into quality. It means that quantitative changes lead to qualitative revolutionary situation.
2. % The law of unity of opposites (contradiction)

3. # The law of negation of negation (thesis-antithesis and synthesis).

4. ¥ The law that the material and ideal are same and constitute a unity

Question Number : 109 Question Id : 97675511747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HrRfaTd! ggTeaes Wfdware & o omam 8| e o § & S0 3 e T8 82

Options :

1. % AT & O | URdc &1 FoH | 39T 3 § T Amsrers uRad= Tonds sifder! fRufd it 3k d@ 971d g
2. % {14l &1 Tehdll 1 g (fRIuTH)

3. % Ty & vy o1 g (@ Rg-TEIRRT ok RiARm) |

4. v g Taw o areft oiR 3mexl T § SR Thdl &7 69 o3 &

Question Number : 110 Question Id : 97675511748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): In his book Socialism: Utopian and Scientific, Engels defined historical materialism as a theory which holds that the ultimate
cause which determines the whole course of human history is the economic development of society.

Reason (R): The whole course of human history is explained in terms of changes occurring in the modes of production and exchange.
Options :

1. ¥ Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).

3. ® (A)is true, but (R) is false.

4. ® (A) is false, but (R) is true.

Question Number : 110 Question Id : 97675511748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 111 Question Id : 97675511749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indian political thinkers stated that “the essence of socialism, lies in "the control by the state of the means of
production”?

Options :

1. ® Sardar Patel

2. # BR Ambedkar

3. % Jawaharlal Nehru
4. % Mahatma Gandhi

Question Number : 111 Question Id : 97675511749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % WER Ucd

2. % Y 3R FHSH

3. ¢ GATERdd 18 %
4. % TGTHT ekt

Question Number : 112 Question Id : 97675511750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In 1936, BR Ambedkar formed a political party to contest 17 seats in the elections of Bombay province. What was the name of the political
party?

Options :

1. ¥ Independent Labour Party

2. # Backwards People Association

3. # Independent Dalit Movement

4. # Backward Bloc

Question Number : 112 Question Id : 97675511750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % ddhds UIUd THIRTRA
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4. % 9oHds sAlH

Question Number : 113 Question Id : 97675511751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following ways did BR Ambedkar denounce Marxism?

1. He decried the strategy of violence as a means to seize power and called for resolute mass action to bring about-a good society.

2. He argued that the economic interpretation of history which does not acknowledge the crucial role that political and ideological institutions
play and the conception of the withering away of the state.

3. He argued that There is no conflict between classes and class-struggle is writ large in social relations.

4. He argued that a good society demands extensive private ownership of the means of production.

Select the correct answer from the code given :
Options :

1. 1and?2

2. % 2and 4

3. % 3and4



4, % 1,2,3and 4

Question Number : 113 Question Id : 97675511751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ 1 3R 2
2. % 2 3[R 4
3. % 334

4. % 1,2, 3 3R 4

Question Number : 114 Question Id : 97675511752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the List - I (Work) and List - II (year) in which Ambedkar published his works.

ListI (Work) ListII (Year)
(A). Annihilation of Caste 1.1923
(B.) The Problem of Rupee 2.1946

(C.) What Congress and Gandhi have done to the Untouchables | 3.1945

(D.) Who were the Sudras? 4.1936




Options :

1. # (A)-1, (B)-2, (0)-3, (D)-4
2. % (A)-2, (B)-4, (0)-3, (D)-1
3. % (A)-3,(B)-2, (O)-1, (D)-4
4. ¥ (A)-4, (B)-1, (C)-3, (D)-2

Question Number : 114 Question Id : 97675511752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- 1@ SR G - 11 (@) BT A o o Sras s A 37Ul TaHTE UHIRId -

Tt - 1 (@T) Tt - 0@
) AffReEE 3ife Fre 1. 1923
(B) WisTH I =4l 2. 1946
() Tc BT T8 T 8 S ¢ 3Ffedacd | 3. 1945
(D) § R Y& ? 4. 1936

Options :

1. # (A)-1, (B)-2, (0)-3, (D)-4
2. % (A)-2, (B)-4, (0)-3, (D)-1
3. % (A)-3,(B)-2, (O)-1, (D)-4
4. ¥ (A)-4, (B)-1, (C)-3, (D)-2

Question Number : 115 Question Id : 97675511753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following did Ambedkar suggest to wield community bond?

1. He suggested inter-caste marriages

2. He suggested inter-caste dining

3. He argued that shastras which defend ‘Varnashramdharma’ have to be abandoned as they justify and legitimise graded organisation of society.

Options :
1. ¥ Only I and 2



2. % Only2and 3
3. % Only 1 and 3
4.4 1,2 and 3

Question Number : 115 Question Id : 97675511753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|. % Ppad | 3R 2
2. % Had 2 3R 3
3. % PHad | 3R 3
4.9 1,233

Question Number : 116 Question Id : 97675511754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raktakorabi and Muktadhara are the works of which among the following Indians?
Options :

1. # Rammohan Roy

2. % Swami Vivekananda

3. * Sri Aurobindo

4. ¥ Rabindranath Tagore

Question Number : 116 Question Id : 97675511754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % MG

2. % W fddee
3. % ot 3RfE

4.  JQGATY TR

Question Number : 117 Question Id : 97675511755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following called Lala Lajpat Rai as “a bourgeois politician with sympathy for Socialism"?
Options :

1. ¥ M.N. Roy

2. # Dadabhai Naroji

3. % CR.Das

4. ¥ Netaji Subash Chandra Bose

Question Number : 117 Question Id : 97675511755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ THE. T

2. % TIaT YIS RISl

3. % IR, g/l

4. % TS U dg a1

Question Number : 118 Question Id : 97675511756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following is not a proponent of Political theory as a Science?
Options :



1. ¥ Leo Strauss
2. % David Easton
3. % George Catlin
4. ¥ Robert Dahl

Question Number : 118 Question Id : 97675511756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ forl |

2. % 3fag g

3. % Gifol dbeleH

4. % JSC 1A

Question Number : 119 Question Id : 97675511757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Classical Political Theory consists of which of the following?

1. Classical political theory aimed at acquiring reliable knowledge about matters concerning the people, a philosophical pursuit to establish a
rational basis for belief; a politically inspired pursuit to establish a rational basis for action.

2. It sought to identify the political with the public, the common: the Greek polis, the Roman res publica, and the medieval age usage of
commonweal — all denoted a sharing of what was common among the people as partners.

3. Relating itself to the political whole, the classical political theory laid emphasis on order, balance, equilibrium, stability and harmony. That is
why, it, in the process, dwelt on terms such as conflicts, anarchy, instability and revolution

Options :

1. * Only 1 and 2
2. * Only 2 and 3
3. # Only 1 and 3
4. 1,2 and 3

Question Number : 119 Question Id : 97675511757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

1. % Had 1 3R 2
2. % Had 2 3R 3
3. % PHad 1 3R 3
4.¢1,23R3

Question Number : 120 Question Id : 97675511758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): For Plato, a state is a system of relationships in which everyone does his own business and where the job of the state is to
maintain, and promote such relationships.

Reason (R): Furthermore, Plato asserted that it is the job of the government, to help people live a complete life.
Options :

1. # Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).

3. % (A)is true, but (R) is false.

4. % (A)is false, but (R) is true.

Question Number : 120 Question Id : 97675511758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Question Number : 121 Question Id : 97675511759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best describes the prescriptive theory of rights?

Options :

1. ¥ It regards the state as the product of a long historical process.

2. # [t presumes that rights are the conditions of social welfare.

3. % it is understood in terms of the economic system at a particular period of history.

4. ® It means that the rights are granted by the state, regarding rights as a claim which the force of the state grants to the people.

Question Number : 121 Question Id : 97675511759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & 9 o SiffeR! & ReenHs Rigid o1 9y 33T guiH Bl 82

Options :

1. ¢ Ug AT B T ofell UfAg1iRies Ufshar & I & &0 H AT g

2. % U UMl & P PR I wedrur &1 2rd & |

3. % 3 3R & U foRiy wrerds | offe sqawnn & ey & g S |

4. % DI AAAY ¢ (o o GRT SHABR fU S €, SABRI & AdY H Uh GId o U H ol o &1 Jfad Al Dl 3a oal 5|

Question Number : 122 Question Id : 97675511760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Who among the following defined ‘being free’ as “not being interfered with by others"?
Options :

1. # Jeremy Bentham

2. ¥ Isaiah Berlin

3. % J.S. Mills

4. % J.J. Rousseau

Question Number : 122 Question Id : 97675511760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % St SRm

2. ¢ GRITE §feiA

3. % .09, fireq

4. % ST

Question Number : 123 Question Id : 97675511761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following contentions does Isaiah Berlin make to defend Negative Liberty?

Options :

1. ¢ Berlin contended that liberty in its negative sense is principally concerned with the area of control, not with its source.
2. % Berlin argued that the principle of liberty brooked no interference with the sphere of one’s self-regarding action.

3. # Berlin argued that the human faculties of perception, judgement, discriminative feeling, mental activity, and even moral preference, are
exercised only in making a choice

4. % Berlin argued that a free man is he that in those things which by his strength and wit he is able to do, is not hindered to do what he has a
will to.

Question Number : 123 Question Id : 97675511761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 124 Question Id : 97675511762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following Statements:

(a) Lord Acton and Alexis de Tocqueville insisted that equality and liberty were anti-thetical.

(b) Rule of law means that the law is sovereign and no person, no matter how great he is or thinks he is, can declare himself above the law
because that would be tantamount to arbitrary rule.

(c) In the Marxist tradition, it is claimed that all human beings are defined by praxis, that is all human beings are knowledgeable, conscious and
practical agents.

(d) Positive equality is associated with ‘the end of privilege’, while Negative equality, means ‘the availability of opportunity’.

Choose the correct statements from the code given:

Options :

1. % (c), (d) and (b)

2. % (a), (b) and (c)

3. # (a), (b), (c) and (d)
4. % (b) and (d)

Question Number : 124 Question Id : 97675511762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

L. % (c), (d) 3R (b)

2. ¥ (a), (b) 3R (¢)

3. % (a), (b), () 3R (d)
4. % (b) 3R (d)

Question Number : 125 Question Id : 97675511763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the proponent of the Social theory of Justice?
Options :

1. % T.H. Green

2. % John Rawls

3. % William Maitland

4. ¥ Stephen Barker

Question Number : 125 Question Id : 97675511763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 126 Question Id : 97675511764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In his critique of, and alternative to utilitarianism, John Rawls derives inspiration from which of the following?
Options :

1. ¥ Immanuel Kant’s moral idea of the freedom and equality of every human being.

2. % Robert Nozick argument on the liberty as the paramount consideration of human being.

3. #® T.H. Green’s idea of the negative equality.

4. ® Montesquieu

Question Number : 126 Question Id : 97675511764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(U ST 3R ITAIRIATaTE & fadey §, 914 Iy FRafefad & 3 fad Ikom ad 82
Options :

1. ¢ SUIUA Hic & & ST &1 WaAdT 3R FHH & i [aar I

2. % [q AP & A & JaaR foaR & &0 H Wdad R d& |

3. % AT TH & THRIAS JHHE & [daR T

4, % Tl

Question Number : 127 Question Id : 97675511765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Robert Nozick’s libertarian conception of Justice is a defence of which of the following?
Options :

1. ¢ It is a defence of free-market capitalism

2. ® Itis a defence of a people led communist

3. # It is a defence of a socialist society

4. ® Tt is a defence of a Marxist regime.

Question Number : 127 Question Id : 97675511765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25



e ASTH B 19 B IeRATe! @yRun fFyfeied o ¥ foaew sad 82
Options :

1. ¥ T8 Yad JT9R YoilaTe 1 & 8

2. % TE ST & Add I SR GURI DI 8T 8

3. % Ug GHISIAIS] JHTS 61 38T §

4. % g U ATRIAIS] U I &M gl

Question Number : 128 Question Id : 97675511766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true regarding Resource Mobilisation Theory?

I. It is an outcome of rational choice theory.

II. It is based on the assumption that individuals’ actions are motivated randomly not by any preference.

I11. The theory purported to show that the success of a movement depended on the resources available to be used.

Options :

1. # Only II is correct

2. % Both I and II are correct
3. % Both II and III are correct
4. ¥ Both I and III are correct.
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Question Number : 129 Question Id : 97675511767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not correct regarding Political parties and party system in India?
Options :

1. # Party system in India emerged and developed at the state level since independence.
2. ¥ Political parties are capitalist in nature after 1967.

3. # The party system in India before 1967 has been a system of Congress dominance.

4. ® The party system changed from one party dominant system to multi - party system at the national level.

Question Number : 129 Question Id : 97675511767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Correct Marks : 1 Wrong Marks : 0.25

All India Scheduled Caste Federation (AISCF) was formed in which year?
Options :

1. % 1935

2.9 1942

3. % 1947

4. % 1951

Question Number : 130 Question Id : 97675511768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

1. % 1935

2.9 1942

3. % 1947

4. % 1951

Question Number : 131 Question Id : 97675511769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

The Book “Hindu Society at Cross Road” was written by -
Options :

1. #* Jyotiba Phule

2. % V.P Menon

3. % K.M. Pannikar

4. % Sarvepali Radhakrishnan

Question Number : 131 Question Id : 97675511769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T "Eg TTgd! e Hhig s fhads gRT fordt 18 ot

Options :

1. % e Ho

2. % qi Ui B

3. ¢ & TH. UoTah

4. % FAuTH! AYTH U

Question Number : 132 Question Id : 97675511770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statements is not correct regarding politics in India by L. I. Rudolph and S. H. Rudolph?
Options :

1. # Politics in India is not a class politics.

2. % Politics in India is centrist politics.

3. ¥ Indian state as a “capitalist state” invoked “capitalism” in pursuit of public sector and state planning.

4. # State negotiates between labour and capital as an autonomous body.

Question Number : 132 Question Id : 97675511770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td 31T F8Ieth 3R T Td Fa e gRI HRd H oI & daie § Fafeiad o @ &9 91 Hy= It a1 82
Options :

1. % YR & Ao T i oifd gl gl

2. % YR H Aorifd HEHRT o 7

3. ¢ U "USiare] Aed" & U B HRATT I8 = Tdoi-eb & 3R I8 fFaie &1 @iel § "goiare” &1 3@ foar|
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Question Number : 133 Question Id : 97675511771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Writing “State Against the People” is written by -
Options :

1. # Morris Jones

2. # P.N. Bhagwati

3. % V K Ramaswami

4. ¥ Rajni Kothari

Question Number : 133 Question Id : 97675511771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Oy sl

2. % Ul T, WTac
3. % df o JHRArH!
4. ¢ IS BIGRY

Question Number : 134 Question Id : 97675511772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A socio — political movement Nav Nirman Andolan of 1974 was organised in which state of India?
Options :

1. # West Bengal

2. % Orissa

3. # Rajasthan

4. ¥ Gujarat

Question Number : 134 Question Id : 97675511772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1974 1 Th FHTD -GS SHiaie Fafaiun siigiad HRd & fba g # Sraiford fbar
Options :

1. % Oigw e

2. % JaH

3. % SIRYH

4. % T[oRId

Question Number : 135 Question Id : 97675511773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a component of Social movement?
Options :



1. ¥ Education
2. # Objectives
3. # Ideology

4. ¥ Programmes

Question Number : 135 Question Id : 97675511773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafea & @ o I sieiad &l ges T8 82
Options :

1. v fRrem

2. % e

3. % foaRYRT

4. % HRIBY

Question Number : 136 Question Id : 97675511774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line "Class domination can never be purely ‘economic’, or purely ‘cultural’ “is said by -
Options :

1. # Karl Marx

2. % A.R. Desai

3. ¥ Ralph Miliband

4. % G. S. Ghurye

Question Number : 136 Question Id : 97675511774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BT AT




2. % TR, IR
3. ¢ I ffads
4. % S T g4

Question Number : 137 Question Id : 97675511775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following asserted, “The parliamentary form of government, as a political institutional device, has proved to be inadequate to
continue or expand concrete democratic rights of the people?”

Options :

1. % MN Roy

2. ¥ AR. Desai

3. # Leo Panitch
4. ® Marion Kozak

Question Number : 137 Question Id : 97675511775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaiRad | ¥ fooge ogl, 'RISHITde SRITT UGV & 320 H, IRHR B GO W&, ARl & 319 didbdizd BRI &l SIRT 3@ a1
T faaR A & forg sroaf aifad gan o

Options :

1. % THTARY

2. ¥ TR, ¢Ts

3. % ol g

4. % AR DINIH

Question Number : 138 Question Id : 97675511776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not correct regarding Relative Deprivation Theory?
1. Relative deprivation is defined as actors’ perception of discrepancy between their value expectations and their environment’s apparent value
capabilities.



2. Relative deprivation model describes the situation where the expectations are stable but capabilities decline.
3. Relative deprivation is a necessary but not a sufficient condition for protest movements.

Options :

1. % Only I and 2
2. % Only 2

3. % Only2and3
4. % 1,2and 3

Question Number : 138 Question Id : 97675511776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1 3R 2

2. ¢ Had 2

3. % §Had 2 3R 3

4. % 1,23R3

Question Number : 139 Question Id : 97675511777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cauvery water dispute is between which two states in India?
Options :

1. # Tamil Nadu and Kerala

2. % Andhra Pradesh and Karnataka

3. % Tamil Nadu and Karnataka

4. % Kerala and Karnataka



Question Number : 139 Question Id : 97675511777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIA3 T faare WRA & foo < 0l & o 82
Options :

1. % gfid 1g 3R ok

2. % 3fTY US 3R HHlCH

3. ¢ AT TG 3R HHicd

4. % P 3R Hlch

Question Number : 140 Question Id : 97675511778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair is not correctly matched with respect to the event and its year?
Options :

1. #® Garibi hatao slogan - 1971

2. ® Loktantra bachao slogan - 1977

3. % Mandal controversy - 1981

4. % Bofors scandal - 1989

Question Number : 140 Question Id : 97675511778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefead o | & 1, W e 3R I I8 & g 7 It gaferd 2l 82
Options :

1. % TRIel T3l AR - 1971

2. % Wlhad SISl AR - 1977

3. ¢ Hed fqdre - 1981

4. % B HICTel - 1989
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Question Number : 141 Question Id : 97675511779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair is not correctly matched?
Options :

1. ¥ Fascist movement - Vietnam

2. % Islamic movement - Middle East



3. % Nazi movement - Germany

4. % Tamilian movement - Sri Lanka

Question Number : 141 Question Id : 97675511779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofefed & 9 o 91w J81 gafed T8l 32
Options :

1. ¢ Brlard! 3fieleH - faadam

2. % ZXATH SMGIa - HeIgd

3. % Aol SffTer - ST

4. % QBT 3ficre - dicidT

Question Number : 142 Question Id : 97675511780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following definition is correct regarding “Social Movement™?

I. A deliberate collective endeavour to promote change in any direction and by any means, not excluding violence, illegality, revolution or
withdrawal into ‘utopian’ community.

II. Social movements can be viewed as collective enterprises to establish a new order of life.

III. Social movements are those organized efforts, on the part of excluded groups, to promote or resist changes in the structure of society that
involve recourse to noninstitutional forms of political participation.

Options :

1. % Only I is correct

2. % Both II and III are correct
3. % Only III is correct

4.9 1 I and III

Question Number : 142 Question Id : 97675511780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. Tt oft fomm o iR foreft ot o @ ufvads &1 sgrar 31 & fore ues faufa amfees yary sigt, fé, siavdr, sifa ar geifia aqe™ &




gt &1 fadey +ff BYeT 8! S|

1. FTATT SfIa Bl olia- B U g SIaRIT VI $H & foIE Tfed STl & U H 1 off Gl ¢ |

1. AR TG Sfeshd Tqg! &1 SR W, THTST B W 8 URadHi &I derdl ¢ a1 fariy $HRA & fore Ifed var &, fors
R HRTIGRT & TR-TRINTT =l &1 TgRT M § |

Options :

1. % Had 1 T8l 8

2. % 11 3R 111 S IR &
3. % PHad 111 98! §

4.9 1,11 3R 01

Question Number : 143 Question Id : 97675511781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct importance of social movement?

I. To increase production in the factories and industries.

II. To oppose the ‘present’ political regime

II1. To establish the system which they consider ‘ideal’ and perfect capable to resolve the problems of society

Options :

1. % Only I is correct

2. # Both I and III are correct
3. % Both II and III are correct
4. % 1,11 and III

Question Number : 143 Question Id : 97675511781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. ¢ 3R el &

4. % 1 113111

Question Number : 144 Question Id : 97675511782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding Marxist approach of Social movement?
Options :

1. ¢ Conflict is the central core of social movements.

2. % Love is the central core of social movements.

3. # Biasness is the central core of social movements.

4. % Freedom is the central core of social movements.

Question Number : 144 Question Id : 97675511782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TN IS Sfieier &l Hatd Jd 3|

2. % A IHATRIS SAGIaH! &l H4d gd g

3. % YaiUg WIS SMigiaH & hald Jd g

4. % TG TS SHiGIa! BT Hard 54 ¢

Question Number : 145 Question Id : 97675511783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who calls Gandhi’s method as “dialogical resistance?”
Options :

1. # Lord Mountbatten

2. ¥ David Hardiman

3. # David Bayley



4. % Karl Marx

Question Number : 145 Question Id : 97675511783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IS ArdcdcH

2. ¥ SfJs TIfSHA

3. % Sfds it

4. % BT AR

Question Number : 146 Question Id : 97675511784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following assumption is/are true regarding Resource mobilisation theory by Rajendra Singh?

1. Social movements must be understood in terms of conflict model of collective action.

2. Both institutional and non-institutional collective actions contain conflicts of interests built in the system of institutionalised power relations.
3. Social movements involve the rational pursuit of interests by competing groups.

Options :

1. * Both 1 and 2
2. % Both 2 and 3
3. * Both 1 and 3
4. 1,2and 3

Question Number : 146 Question Id : 97675511784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gHl 1 3R 2
2. % gHI2 3R 3
3. % g1 3R 3
4.9 1,233

Question Number : 147 Question Id : 97675511785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Council of Europe established?
Options :

1. ¥ 1949

2. % 1950

3. % 1951

4. % 1952

Question Number : 147 Question Id : 97675511785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg v § TRy uRwg 1fad g8 ot 2
Options :
1. ¥ 1949
2. % 1950
3. % 1951
4. % 1952

Question Number : 148 Question Id : 97675511786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following movement is not related to Environment?
Options :

1. # Chipko Movement



2. # Appiko Movement
3. % Abolitionist movement
4. ¥ Narmada Bachao Andolan (NBA)

Question Number : 148 Question Id : 97675511786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % RIge®! sfigia

2. % 3ffWeh! gadc

3. ¢ IAHATG! 3fiGIa

4. % THcT SET3N 3G (TTE)

Question Number : 149 Question Id : 97675511787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements with regard to Mandal Commission:

A. The Mandal Commission is officially known as the Socially and Economically Backward Classes Commission (SEBC).

B. The commission developed 11 criteria to identify the backward classes who were called “Other Backward Classes” or OBCs. The criteria are
classified as social, economic and educational.

C. The Commission was chaired by a Member of Parliament, D P Mandal.

D. The Commission submitted its report to the President on 31st December 1980.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

l1.Aand D

2.A,Band C

3.0nly D

4. Only C



Question Number : 149 Question Id : 97675511787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.ASIRD

2.A, B3R C

3. %D

4. had C

Question Number : 150 Question Id : 97675511788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements, one labeled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): In a democracy, the civil service has to modify its behaviour and style of functioning to complement the needs of democracy.
Reason (R): The establishment of the Panchayati Raj institutions on a country-wide basis and the transfer of some of the traditional functions of
the civil service system to these newly established institutions constitute a new policy trend in the civil service system.

Options :

1. # Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. % (A)is true, but (R) is false.

4. #® (A)is false, but (R) is true.



Question Number : 150 Question Id : 97675511788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 151 Question Id : 97675511789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vohra Committee Report studied the -

Options :

1. #® Multi-tier bureaucratic authority

2. ¥ Nexus between criminals, politicians and bureaucrats in India
3. ¥ Machinery of Government of India

4. ® Training and recruitment of the higher Civil Services

Question Number : 151 Question Id : 97675511789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4. % Iog Fafae Qarail &1 ufRreor 3R widff

Question Number : 152 Question Id : 97675511790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements with regard to Public Interest Litigation (PIL):

A. It is a socio-economic movement generated by the judiciary to reach justice specially to the weaker sections of the society.

B. The purpose of PIL is the enforcement of the right of one person against the other.

C. The granting of the right to PIL has led to plethora of litigations in the courts, indicative of the development of democratic rights by the
judiciary.

D. The idea came from ‘atio popularis’ of the Roman jurisprudence, which allowed court access to every citizen in matters of public wrongs.
Select the incorrect statements from the code given below:

Options :

lI.% Aand D

2. % Aand B

3.¥ Only B

4. % Only D

Question Number : 152 Question Id : 97675511790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 153 Question Id : 97675511791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements, one labeled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): The modern judiciary in India derives its sources from the Constitution, and acts as a check on the arbitrary decisions of the
legislature and the executive.

Reason (R): A working democracy requires an independent judiciary well-coordinated by an effective executive and a responsible legislature.

Options :

1. # Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. % (A)is true, but (R) is false.

4. #® (A) is false, but (R) is true.

Question Number : 153 Question Id : 97675511791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 154 Question Id : 97675511792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The book titled 'Homo-Hierarchicus on the Indian Caste System' is written by?
Options :

1. ¥ Louis Dumont

2. ® Nicholas Dirks

3. # Kancha Ilaiah

4. % Gerald Berreman

Question Number : 154 Question Id : 97675511792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ s SgAI

2. % APy s

3. % HidTSoAT

4. % TRTCS SEH

Question Number : 155 Question Id : 97675511793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements, one labeled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): The Indian polity is governed by vertical mobilization by the dominant castes and horizontal alliances in the name of jati and
varna.

Reason (R): The establishment of a formal democracy guarantees that all citizens will enjoy equal access and participation in the political
processes.

Options :

1. # Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. % (A) is true, but (R) is false.

4. #® (A)is false, but (R) is true



Question Number : 155 Question Id : 97675511793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % (Q) 3R (3MR) SHI T € 3R (3R) (T) B Tg! AT 3 |
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3. ¢ (U) 94 &, dfch (3R) Y31 8|

4. % (T)TAd ®, Afb (3R) TI &

Question Number : 156 Question Id : 97675511794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'"The Paradoxical Prime Minister: Narendra Modi And His India' is a book authored by:
Options :

1. # Rahul Gandhi

2. # Burkha Dutt

3. # Rajdeep Sardesai

4. ¥ Shashi Tharoor

Question Number : 156 Question Id : 97675511794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T RrSTRIeh e UTsH ffFReR: g AIdl Ue o $iear ug fovere 5 H 4 o foreli © 2
Options :

1. % 7ga TR

2. % RYT¢d

3. % OIdIY WRGHTS




4. Y YT

Question Number : 157 Question Id : 97675511795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of following scholars, first worked on the ‘Cultivation Theory’?
Options :

1. % Donald Shaw

2. # Jennings Bryant

3. ¥ George Gerbner

4. % Dorina Miron

Question Number : 157 Question Id : 97675511795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferfed § 3 fod fagH 3 gauyd ol Rigia (@eclae @R W S feam
Options :

1. % gHIeS 2T

2. % Wi §Rie

3. ¢ SISl MER

4. % SIAT R

Question Number : 158 Question Id : 97675511796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Scholars Melvin de Fleur and Sandra Ball-Rokeztch gave which of the following theory?
Options :

1. # Agenda Setting Theory

2. % Media System Dependency Theory

3. # Development Communication Theory

4. % Spiral of Silence Theory



Question Number : 158 Question Id : 97675511796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagrl Afca S weR iR HeT fa-Aderd A Fafafea & @ oF w1 Rigid e
Options :

1. % goleT Ui Rigia

2. ¢ Hifgar ol fikar Rigia

3. % fapry ¥aR Rigia

4. % WIS 301 Arsoid gl

Question Number : 159 Question Id : 97675511797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Rise and Decline of Nations: Economic Growth, Stagflation, and Social Rigidities, 1982' has been written by -
Options :

1. # Samuel P. Huntington

2. % Harold Lasswell

3. ¥ Mancur Olson

4. # George Bernard Shaw

Question Number : 159 Question Id : 97675511797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 59 TS FEaaTs Siith AR9: SPhIMIMHe T, WIHIRM, TS 9ivid RIS, 1982 fhad gR1 foram mar g2
Options :

1. % qara ut. gfdreq

2. % gRIce AIad

3. ¢ TP g

4. % Gifel s T



Question Number : 160 Question Id : 97675511798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the author of the book ‘System and Process in International Politics’?
Options :

1. # Gordon Anderson

2. % Morton Kaplan

3. # Suson Eaton

4. % David Easton

Question Number : 160 Question Id : 97675511798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # § 3 Ried T8 TN 37 $ex-RHd Ulidfe R I & add 87
Options :

1. % T TS

2. ¢ Hicq HUAH

3. % g 3T

4. % SfagwA
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Question Number : 161 Question Id : 97675511799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the defensive alliances formed by the capitalist or free market nations post the second world war?
Options :

1. * NATO

2. % CENTO

3. % Warsaw Pact

4. % SEATO

Question Number : 161 Question Id : 97675511799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofiRed 7 3 o1 g 3y g & 918 doard! a1 Jad STeiR AP gRT TS &S IS8 § 3 U Tol 67

Options :
1. % A1l
2. % Gl
3. ¢ dREI °fY




4. % Ter

Question Number : 162 Question Id : 97675511800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not correctly paired?
Options :

1. # Suez Canal Crisis — 1956

2. # The Lebanese Conflict — 1958

3. % Indo-Pak Conflict — 1965

4. ¥ The Congolese Conflict — 1968

Question Number : 162 Question Id : 97675511800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 oF 91 Siel ¥l 7ol 62
Options :

1. % WS 78R HhHC - 1956

2. % QST F9Y - 1958

3. % YRA-UTH HON - 1965

4. BT A - 1968

Question Number : 163 Question Id : 97675511801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true about the Idealist school of philosophy in India?

1. Kautilya was an advocate of idealist school of philosophy.

2. The Upanishads give us the basis of the theory of non-violence which becomes the basis of idealist tradition.

3. This idealist method had its limitations as India discovered to its cost during the action in Goa in 1961, the Chinese invasion in 1962, and the
Pakistani aggressions of 1965, 1971 and 1999.

Options :
1. ¥ Only 1



2. % Only 2
3. % Only 3
4, % 1,2 and 3

Question Number : 163 Question Id : 97675511801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA H g2 & 3exfarc) ugfd & IR # Fufafea A Qs arga 78 82

1. ®Ifeed GX[ & 3MeRare Ugfd & WHR Y|

2. IUfIvE g ST & Rigid BT 3MUR Id & Sl 3MeRfarc! URuRT &1 YR §-d1 5 |
3. 1961 T a1 § HIRATS, 1962 H AT STHHUT 3R 1965, 1971 3R 1999 & TIHXAMT STHHUN & GRIH HRA B 3TD! B B! UST,
Hifds 39 STeRiare) Ugfd &1 3ot drang off |

Options :

1.« Had |

2. % Had 2

3. % $dd 3

4. % 1,233

Question Number : 164 Question Id : 97675511802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following year Shimla Agreement was signed between India and Pakistan?
Options :

1. * 1965

2.9 1972

3. % 1971

4. % 1991

Question Number : 164 Question Id : 97675511802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad 3 9 forg o § YRd iR uifsd & oie e gweid IR gxaR fbu 7w 99



Options :
1. * 1965
2. % 1972
3. % 1971
4. % 1991

Question Number : 165 Question Id : 97675511803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following about the early foreign policy of India towards Tibet:

1. In continuation of the policy of Indo-Chinese friendship, India signed the Sino-Tibetan Agreement on May 23, 1951, which sealed Tibet’s fate
permanently.

2. In 1954 Nehru had conceded the Chinese claim over Tibet by accepting its suzerainty over it, when India signed an agreement for trade with
the “Tibetan region of China.”

3. To pacify the Chinese, Nehru concluded the Panchsheel (Five Principles) Agreement with Chou En-lai in 1954, based on the principles of
mutual respect for territorial integrity and sovereignty, non-aggression, non-interference in internal affairs, equality and peaceful coexistence.

Choose the correct from the following code:
Options :

1. % Only 1

2. % land?2

3. % Only 3

4.9 1, 2and3

Question Number : 165 Question Id : 97675511803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 5dd |

2. % 1 3R2

3. % $Hdd 3

4.9 1,233

Question Number : 166 Question Id : 97675511804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the elements of the UN Activities in the area of self-determination?
Options :

1. ® Trusteeship System

2. ®% De-Colonialism

3. # Racial equality in South Africa and Rhodesia

4. ¥ Military action to free Goa from the Portuguese Rule

Question Number : 166 Question Id : 97675511804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & 9 o1 srafvfa & &e # g Iy &1 fafafal o1 dd T8l o2
Options :

1. % XIRM ey

2. % fa-3ufAa=fiemrur

3. % GR0T SIpTeT SR ISR H Aig H

4.« TG DI YTl W J Jad HRA & (o8 T SRS

Question Number : 167 Question Id : 97675511805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is incorrect with regards to the Concept of the self-determination?



Options :

1. # It is obvious that the concept, along with that of nationalism played a significant role in the process of de-colonisation.
2. # The concept of Self-determination makes no provision for identifying the bases for defining the territorial limits.

3. # It is the application of the principle of Self-determination within multi-cultural societies that is most complex.

4. ¥ Freedom to the colonies mark the end of the role of the principle of Self-determination

Question Number : 167 Question Id : 97675511805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 168 Question Id : 97675511806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Terrorists are trained in one country to operate in more than one country is called -
1. Cross Border Terrorism
2. International Terrorism

Options :

1. % Only 1

2. ¥ Only 2

3. % Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 168 Question Id : 97675511806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had |

2. ¢ Had 2

3. % 1 3R 2aMN

4. % A1 3RAE 2

Question Number : 169 Question Id : 97675511807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not correct about Nuclear Non-Proliferation treaty?

Options :

1. #® Earlier focus had mostly been on weapons systems, strategic parity and corresponding geostrategic considerations.
2. % The treaty divides the signatories into two categories: those who possess the nuclear weapons and those who did not.
3. # It commits the non-weapon states to inspection of their holdings of nuclear materials.

4. ¥ The NPT was the second step to the construction of an effective international regime designed to halt the proliferation of nuclear weapons
after ABM treaty.

Question Number : 169 Question Id : 97675511807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 170 Question Id : 97675511808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not correct regarding treaties of nuclear explosions?
Options :

1. ® The 1963 Partial Test Ban Treaty

2. ¥ The 1972 Threshold Test Ban Treaty

3. #® The 1976 Peaceful Nuclear Explosions Treaty

4. ® The 1996 Comprehensive Test Ban Treaty.

Question Number : 170 Question Id : 97675511808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1963 1 3HifRreh TI&01 Ufdeiy HiY|

2. ¥ 1972 YIS ¢ fdee HfY |

3. % 1976 Tifaqul TRAT] faemie 9|

4. % 1996 ! HTUDH URI&UT UfdeY TiY|

Question Number : 171 Question Id : 97675511809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Apartheid is related to which country?
Options :

1. ® France

2. ® Ttaly

3. ¥ South Africa

4. ¥ India

Question Number : 171 Question Id : 97675511809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Y

2. % gl

3.+ TI&IUT 3TThiehT

4. % YRd

Question Number : 172 Question Id : 97675511810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following shows the Impact of Science and Technology on Military Affairs?

I. Long range missiles, aircraft and submarines have reduced the significance of physical location as a determinant of the vulnerability of a
nation.

II. It provides a striking demonstration of the effort of changes in military technology on international relations.

II1. It increases the friendship between two nations.

Options :

1. ¥ Both I and II are correct
2. % Both I and III are correct
3. % Both II and III are correct
4. % [ Iland III

Question Number : 172 Question Id : 97675511810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 13RS gt &

2. % [ 3R IS TBt g

3. % 13RI EHI 9el §
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Question Number : 173 Question Id : 97675511811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the major cause of Inequality among nations?
Options :

1. ¥ Uneven International Economic System.

2. ® The power game in international politics.

3. ¥ Emerging Labour Markets and Skill Differentials.

4. ¥ Trade among developed and developing nations.

Question Number : 173 Question Id : 97675511811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & 9 S1F 15t & e ST 61 Y SR el 82
Options :

1. % SFHH SfRITHY Sfifes gumel!|

2. % JRPIY eI H Il BT Qe |

3. % IR YH IOR 3R P 3R |

4. ¢ Al 3R fawra=ha i & 9 smuR|

Question Number : 174 Question Id : 97675511812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair is not correctly matched about formation year of organisation?
Options :

1. # United Nation (UN) - 1945

2. # Universal Declaration of Human Rights (UDHR) - 1948

3. ¥ International Covenant on Economic, Social and Cultural Rights (ICESCR) - 1956

4. # International Covenant on Civil and Political Rights (ICCPR) - 1966



Question Number : 174 Question Id : 97675511812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3 o a9 b IR A FrERied & & S a1 ohe 9 GARE T &

Options :

1. ® YYad Y (United Nation (UN) - 1945)

2. % AHFAIIGRY Bt ATGHY ST (Universal Declaration of Human Rights (UDHR) - 1948)

3. ¢ i , JraTfoies 3R W BRI TR \’:‘I?m:@q hRR (International Covenant on Economic, Social and Cultural Rights (ICESCR) -
1956)

4. % NI 3R AT HIBRI TR SR PR (International Covenant on Civil and Political Rights (ICCPR) - 1966)

Question Number : 175 Question Id : 97675511813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

About China, who had once said: “It is a sleeping giant, let it sleep for if it wakes it would shake the world”?
Options :

1. # Jawaharlal Nehru

2. ¥ Napoleon

3. % Alexander I. Czar

4. % Lord Litton

Question Number : 175 Question Id : 97675511813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 176 Question Id : 97675511814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding People’s Liberation Army of China?
1. The PLA was formed in the year 1927.

2. The name PLA was given to it after the Japanese attacked China in 1937.

3. Zhu De and Mao Zedong were the main founders of PLA.

Options :

1. % Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
4.4 1,2 and 3

Question Number : 176 Question Id : 97675511814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Pad 1 3R 2

2. % a2 3R 3

3. % $Had 1 3R 3

4.9 1,233

Question Number : 177 Question Id : 97675511815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To look at international relations not from the viewpoint of nation states but from the perspective of the security of the individual is known as
Options :

1. * Human benefits



2. % Human Rights
3. ®* Human threat

4. % Human Duties

Question Number : 177 Question Id : 97675511815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # HAJ Y

2. ¢ HHAIYBR

3. % HMHI G

4. % G By

Question Number : 178 Question Id : 97675511816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The book “Transnational Relations and World Politics” is written by
Options :

1. ¥ Robert O. Keohane

2. # Kegley Jr.

3. ¥ Mathew Evangelista

4. ¥ Riddel-Dixon

Question Number : 178 Question Id : 97675511816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % Ty gduiferen
4. % Sa-feaA

Question Number : 179 Question Id : 97675511817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term “refugee” as defined by the United Nations Convention Relating of 1951 is any person who -
1. was a victim of events in Europe occurring before 1 January 1951.

2. was outside the country of his origin (home country of which he is a national)

3. could not go back to his home country of origin due to a well founded fear of persecution

Options :

1. % Only I and 2
2. % Only 2 and 3
3. % Only 1 and 3
4. 1, 2and3

Question Number : 179 Question Id : 97675511817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1 3R 2
2. % Had 2 3R 3
3. % PHad | 3R 3
4.4 1,233

Question Number : 180 Question Id : 97675511818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who strongly said that “Man is a Political Animal”?
Options :

1. # Socrates

2. % Chanakya

3. % Aristotle

4. % Plato

Question Number : 180 Question Id : 97675511818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ'-E[ H @WW % Pl '&ﬂazﬁ Uh ST TR % ' (man is a political animal)?
Options :
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4. % Wi
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Question Number : 181 Question Id : 97675511819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The Study of the Problem of Discrimination against Indigenous Populations” was reported by?
Options :

1. ¥ Jose R. Martinez

2. % Riddel-Dixon

3. ¥ Robert O. Keohane

4. % MA Conroy

Question Number : 181 Question Id : 97675511819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGN ST & RIATH NI & THXT &1 e fpgas gR1 Rae fasar mar ur

Options :

1. ¢ S 3R A1
2. % RSa-feq A

3. % J[de 3 Hagd
4. % THU SR




Question Number : 182 Question Id : 97675511820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year did China annex Tibet?
Options :

1. % 1949

2. %1950

3. % 1955

4. % 1958

Question Number : 182 Question Id : 97675511820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A1 A fdssd WR ford o e = foram
Options :
1. % 1949
2.9 1950
3. % 1955
4. % 1958

Question Number : 183 Question Id : 97675511821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the 1860s, the USA witnessed a civil war between the northern and the southern states on which of the following issue?
Options :

1. # Rights of women

2. % Secession

3. ¥ Abolition of slavery

4. % Gun control laws

Question Number : 183 Question Id : 97675511821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1860 % RIS H, Tgad o SR A Faferied 7 ¥ feg gg iR ST 3R <fimht 0 & o9 T8 g <
Options :

1. % Oigarsfl & SHfEdR

2. % 3{eTd

3. T BT IHEH

4. % §goh HIAT DA

Question Number : 184 Question Id : 97675511822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following observed that “During the emergency the executive, for its political ends, has used the police”?
Options :

1. ¥ Shah Commission

2. % Ribeiro Committee

3. ¥ National Police Commission

4. % Malimath Committee

Question Number : 184 Question Id : 97675511822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & I fooem g1 [ " SMuadIal & SR HRITIA®T A 30 MeiTdd Ie-d! o g e &1 SuanT foar g2
Options :

1. ¢ T8 3TN

2. % Ry wfafa

3. % I Gfery ST

4. % Heigs giAfa

Question Number : 185 Question Id : 97675511823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

India entered into the nuclear club as the sixth member with the testing of a nuclear device in which year?
Options :

1. # 1996

2.% 1974

3. % 1991

4, % 1998

Question Number : 185 Question Id : 97675511823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR = o oy URATY] ISRV & URIEU1 & 1Y TS Yo & ¥4 H URAY] Fd H Ja far
Options :

1. % 1996

2.9 1974

3. % 1991

4. % 1998

Question Number : 186 Question Id : 97675511824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following gave the Structural Framework Approach?
Options :

1. % Max Weber

2. # Talcott Parsons

3. % Gabriel Almond

4. # William Mitchell

Question Number : 186 Question Id : 97675511824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 forem IReTE® wudl SRS (eaard thHddD THd) faam




Options :

1. % To daR

2. % TTHIC U
3. ¢ TS HTeHs
4. % fafergw ferae

Question Number : 187 Question Id : 97675511825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Legal relations as well as forms of state could neither be understood by themselves, nor explained by the so-called general progress of the
human mind, but that they are rooted in the conditions of life." Who among the following said this?

Options :

1. ¥ Karl Marx

2. % Peter Kropotkin

3. # John Maynard Keynes
4. # Trving Fisher

Question Number : 187 Question Id : 97675511825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT T B TTY-T1Y I & 4T DI 7 ) WD FHT S DT §, 7 81 AT 1 JUTH A FHIR W gRT JHSTT S Wbl g,
qfep 9 Sttae &t Rufaal & ffga 81 Fafafea 3 § fowm a8 wgn

Options :

1. ¢ oTe A1

2. % Uiex piurefd

3. % S TS B

4. % G R

Question Number : 188 Question Id : 97675511826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following theories is credited to have changed the apologetic view of capitalism into a pragmatic one?



Options :

1. #® Labour Theory of Value

2. ¥ General Theory of Employment, Interest and Money.
3. # Comparative Cost Advantage Theory

4. ® Competitive Market Advantage Theory

Question Number : 188 Question Id : 97675511826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & 3 foy Rigid &1 goare & el 2P &) ragie vt § gea- &1 94 a1 o7 g2
Options :

1. ® T &1 9¥ fygid

2. ¢ SR, ST SR & HT I Rigia|

3. % JATHS aTd o gl

4. % g aomR arv Rrgia

Question Number : 189 Question Id : 97675511827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not paired correctly with regards to the theory of Origin of State?
Options :

1. # Thomas Hobbes — Omnipotent State

2. % John Locke — Limited State

3. % Rousseau — Democratic State

4. ¥ Frederick Engels — Product of Natural Social Development

Question Number : 189 Question Id : 97675511827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B I & Rigid & Gy § Rufiiad & 3 o9 a1 sirer 98t 181 82

Options :




1. % IOy giey - aQIfaqa g
2. % 9 dicp - Tiferd Iy
3. % W] - AhHdiAD I

4. ¢ TheRe W - Ui ITHTSD [dHr BT IdTG

Question Number : 190 Question Id : 97675511828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following said, “'The state represents violence in concentrated and organised form. The individual has a soul but the state is a
soulless machine; it can never wean from violence to which it owes its very existence.”?

Options :

1. # Karl Marx

2. % Herald Laski
3. ¥ M.K. Gandhi
4. ®* BR Ambedkar

Question Number : 190 Question Id : 97675511828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 fam we1, 'Ieg Higd iR Tfed T # fgar &1 ufaffia oar 8| safad & Ui 3T gla @ Afd ey T o
TR 3; 98 39 iEa1 @ ot g T8 8 Tl ford HIRUI 34T KT g 1"

Options :

1. % el Ao

2. % RS ARDI

3. ¢ TH. o, MR

4. % d 3R ATSH

Question Number : 191 Question Id : 97675511829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hyperglobalist define globalisation as which among the following?
Options :



1. ¥ A new epoch of history in which traditional nation-states have become 'unnatural, even impossible business units in a global economy'.

2. # The forces of globalisation are themselves dependent upon the regulatory power of national governments to make states globalise, liberalise
and privatise

3. # Globalisation is 'transforming' the world and see it as a driving force behind the rapid social, political and economic changes that are
reshaping modern societies and a world order.

4. ® A new form of Imperialism, they see it as an extension of the neo-liberal conservative policies practiced by the advanced western countries
to put their own economies in order as well as overcome global depression following the oil crisis of the 1970s and 80s.

Question Number : 191 Question Id : 97675511829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gRUIAIeRe, 32l &) FgfeiRad H 3 fege =0 & uRyitd Hdr g2

Options :

1. ¢ 38T 1 Ueb 741 g1 T URUR Y-8 "dfYe Srfcawyl # SRaTHIfde, Tgi deb b SHivd uradiie sh1eal o1 T 6|

2. % ISP BT AT W AT BT IHTHR0T, JARIBRT 3R ST B3 & 7w AP PRI 31 FHames fed R AR &1

3. % JafeR0T 3T BT TR PR LT ® 3R T ol | T, e 3R 3nfife afad=f & Uie e IR T & TUH T, o
3y TATST 3R T 3y eyt o) b & 3R 3 R B

4. % GYTTAIE &1 TH TI1 77 - 4 59 U1 fcqa=u1sii &) pH H Wa- & F1Y-T1Y 1970 3R 80 B P & o Jbe P G diNPp
3{ANIE B gX B o [o1T I TIYH <=M gRT T T9-3GRAIG] Ffeara! A & faR & €U H ¢9d ¢ |

Question Number : 192 Question Id : 97675511830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. ¥ The United Front Government came to power in 1989
2. # The BJP did not support the United Front Government
3. # The Left supported the United Front Government

4. ® The Congress supported the United Front Government

Question Number : 192 Question Id : 97675511830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
FafaRad & I &I 91 Sy Tad g2

Options :

1. ¢ 1989 & Tgad Hidl TRHR <1 H 371

2. % YIS = Ygad Hidl RPR BT HY g1 ford
3. % qAURAT A Igad Ul REHR &1 974 far
4. ® B A G ArEl WHR ol Ga= fopar ot

Question Number : 193 Question Id : 97675511831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Thomas Aquinas, a general principle such as ‘serious promises should not be lightly broken’ is an example of which of the
following?

Options :

1. # Logical deduction
2. # Fist principles

3. # Self-deduction

4. ¥ Self-Evident

Question Number : 193 Question Id : 97675511831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U THN & SR, THR a1al &l geb T T8t arsT STHT A1feq oin I Rygid fafeiaa o 9 farae 3arerur g2

Options :

1. % difdes gfoma
2. % Hgit Rigia
3. % W-gRUmy
4.  TIGUHT

Question Number : 194 Question Id : 97675511832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the reason behind the human consciousness becoming moral?

(1) He/she has been continuously asking himself the question what he is?
(2) Because he becomes more aware of himself as a human person.
(3) Because the more human person becomes himself/herself the more he she becomes conscious of what he/she should be.

Options :

1. % Only (1)

2. % Only (2)

3. #* Only (3)

4. % (1), (2)and (3)

Question Number : 194 Question Id : 97675511832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AT & Afdd 814 & TS T R g2

(1) 98 TTAR Y& I FaTd IS a1 81 § [ a8 T 82

(2) Fifd 98 AFg oum%%u H W9d & ufa 31f¥e See gl Ja1 g |

(3) TP S 3ifiies A9 cafaa T 4 STaT § ST 81 98 39 &1 & Ufd Iad 81 911dT § 7 3 1 811 =1l
Options :

1. ¢ &ad (1)

4. % (1), (2) 3R 3)

Question Number : 195 Question Id : 97675511833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the immediate ontological foundation of the moral order?
Options :

1. ¥ Salient moments

2. % Love

3. % Moral precepts



4. % Human interrelatedness

Question Number : 195 Question Id : 97675511833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AR PT AT ATATRD YR T 52
Options :

1. % T &0

2. % TR

3. % Afd® U™

4.« OFa Sfadey

Question Number : 196 Question Id : 97675511834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As human person becomes more and more conscious of himself as human — as an individual and as a social being -
Options :

1. # he/she becomes more conscious of his/her first principles and of his/her rights and duties as a human person

2. # he/she becomes more conscious of his/her human moral precepts and of his/her rights and duties as a human person
3. # he/she becomes more conscious of his/her moral consciousness and of his/her rights and duties as a human person

4. ¥ he/she becomes more conscious of his/her human inter-relatedness and of his/her rights and duties as a human person

Question Number : 196 Question Id : 97675511834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y-S A9 fad W Sl AMd & TUH — T dAfdd & ¥U H 3R T e Ut & =0 H — e I 31fis SRes gial Sidi g -
Options :

1. % Y 99 98 U UuH Rigial 3R U HIFd dfad & =0 § 30 AfYBRI 3R waiaal & Ul 31 SIFRees 81 oildl §

2. % 3 I 98 U AT A I 3R U A Afdd & U H (U4 fISRI 3R Hdial & Ul 31 Sess 81 oid1 8

3. % 3 I 98 AU A AT 3R U A9 afdd & U H U+ fISRI 3R Bl & Ul 31 Sess 81 oidT 8

4. ¢ 3T 3 98 U AHAN Sfadeed 3R U Hd fad & =0 § 3 USRI 3R wcfad & Ufd 3ifde SR g1 Srdl &




Question Number : 197 Question Id : 97675511835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ethics is the philosophical treatise which studies human behaviour and tries to determine what is right or wrong behaviour. It is also called?
Options :

1. % Behavioural philosophy

2. % Moral philosophy

3. % Empirical Knowledge

4. % Critical Ontology

Question Number : 197 Question Id : 97675511835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afdar te i Uy g Sl ATd UaER &1 3eqa Hd1 § 3R I8 MuiRa & &1 vy oar g i gt a1 7Toid UagR ar g | 39
i eI g |

Options :

|. % SJdgR g¥H

2. « AP 3

3. % SIYIO I

4. % fpfemd siieraroit

Question Number : 198 Question Id : 97675511836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Karel Vasak has sought to classify the historical development of human rights according to the French revolutionary slogan -
Options :

1. ¥ Liberty, Equality and Fraternity

2. % Justice, Liberty and Equality

3. % Sovereign, Socialist and Secular

4. % Liberty, Equality and Secular



Question Number : 198 Question Id : 97675511836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DR dD A Wi BifddRT AR - & IR HHATIBRI & UTgTRIS fabr &1 Fiipd
A B ANB G|

Options :

1. ¢ AT, FHAGT 3R SY@

2. % I, WoFdT 3R FHAT

3. % Y, JHMSAIST R YHFRUe
4. % AT, AT 3R YHFAROE

Question Number : 199 Question Id : 97675511837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was not the goal of the World Conference on Human Rights held at Vienna in 1993?

Options :

1. #® Confirmation of universality of Human Right.

2. % Establishment of equal validity for social and economic rights along with civil and political rights and the right to development.
3. # Expansion of the sphere of accountability of the sovereign state.

4. ¥ Widely hoped co-ordination of efforts of the individual and nongovernmental organizations under the spearheading leadership of the UNO.

Question Number : 199 Question Id : 97675511837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad 7 @ &9 I 1993 § fag1 7 Smfora aFaier) W fay Twa &1 ded Tl Ui

Options :

1. % AM4 HRABR Bt AqrdHTHG DI gD |

2. % qEIR® 3R IoHIfaP USRI 3R 6T & IfUBR & Ty AT iR 3nfifes SHfeRT & folw TaM dear o =g
3. % YUY I Pl STaldGg! b & bl (&R |

4. T Y VY & 4@ B AN 3R IR-IRBRT W31 & JAR! & ATIH U U {Ufad gH7-ad |



Question Number : 200 Question Id : 97675511838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following said that "Life, the continuation of the body in time, and liberty, the unhindered movement of the body, became two of
the highest moral values"?

Options :

1. ¢ Bhikhu Parekh
2. % Upendra Baxi

3. % Robert Benewick

4. ¥ Ramin Jahanbegloo

Question Number : 200 Question Id : 97675511838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o 9 fodm a1 for offad, W9 T IRR &t FARaRd, IR W=l IRR &1 ety 71, &1 Jate s ge a9 T
Options :

1. ¢ ¥g TRE

2. % JUg gl

3. % qC oHfdD

4. % P S
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Question Number : 201 Question Id : 97675511839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the advantages of British rule in India?
Options :

1. ¥ Encouraging Jobs under British government

2. # Laying of railways

3. % Encouraging social reforms

4. ¥ Bringing entire India under one administrative umbrella.

Question Number : 201 Question Id : 97675511839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiied # 9 319 yRa | fofe =med & ol & 9t 781 52
Options :

1. ¢ T3t RHR & q8d BRIl BT MedTed BT

2. % Yqd faa™I




3. % QSIS GURI &1 UidTied ®=AT
4. % Q¥ YR Bl Teh TR S & =l oA

Question Number : 202 Question Id : 97675511840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Backward and Minority Communities Employees Federation (BAMCEF) formed?
Options :

1. *® 1972

2. % 1974

3. % 1976

4.4 1978

Question Number : 202 Question Id : 97675511840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g oy ITHAE (SHaS U8 AN BRI WSS BavRH) &1 T3 g2
Options :

1. % 1972

2. % 1974

3. % 1976

4.+ 1978

Question Number : 203 Question Id : 97675511841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Convention on Wetlands of international importance especially as waterfowl habitat was ratified in which year?
Options :

1. ¥ 1971

2. % 1972

3. % 1973

4. % 1974



Question Number : 203 Question Id : 97675511841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS T B SMfH R H-a¥H A=Y F0 ¥ Favel smar & Fu § foow av gfd 31 152
Options :

1. ¥ 1971

2. %1972

3. % 1973

4. % 1974

Question Number : 204 Question Id : 97675511842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Telangana Agitation started in the year:
Options :

1. # 1943

2. % 1945

3. % 1947

4. % 1969

Question Number : 204 Question Id : 97675511842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ACTTT SficTa &1 Foad fy a8 J g5 o
Options :

1. #® 1943

2. % 1945

3. % 1947

4. % 1969




Question Number : 205 Question Id : 97675511843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following personalities founded Self-Employed Women’s Association (SEWA) in the year 1972? She also worked with the
Gandhian women trade union called Textile Labour Association.

Options :

1. % Raghubir Kaur
2. % C.K.Janu

3. % Susheela Gopalan
4. ¥ Ela Bhatt

Question Number : 205 Question Id : 97675511843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiad 7 ¥ foa afaaa 7 9 1972 § WIISR AR T4 (SEWA) B RITTT B2 I8i- coRIeIzsd Aok THIRTERM A1He ieftard!

Question Number : 206 Question Id : 97675511844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1977, the Government of India appointed Ashok Mehta Committee for which of the following reasons?
Options :

1. # Introduction of Panchayati Raj System

2. ® For regular elections of Panchayati Raj

3. ¥ Revive and strengthen the Panchayati Raj System

4. # To analyse the development at the grass root level



Question Number : 206 Question Id : 97675511844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1977 §, YRd WRHR A Fgfeiad 4 9 foord HRor Y 3i=ne Agar 9ilfd &t g o1
Options :

1. % U S AT o] LT BRI

2. ® UGl IS & Fafid g1 o forg

3. ¢ T IS a7 Dl GAuiTad 3R Holgd $H & forg

4. % SO ER WR [dhT o1 fa2ayur e & oy

Question Number : 207 Question Id : 97675511845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which amendment introduced the third tier of government in the Indian Democracy?
Options :

1. # 67" Amendment

2. % 74t Amendment

3. % 73" Amendment

4. ¥ Both 73" & 74" Amendments

Question Number : 207 Question Id : 97675511845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fob e FRMYA 7 YR dlhad T WHR & ARIR TR B 3T D17

Options :

1. % 679 GmeA

2. % 749 g

3. % 739 g

4.« 739 3R 743 1 A




Question Number : 208 Question Id : 97675511846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements, one labeled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): Political parties have continued to remain in the centre of Indian politics.

Reason (R): Opinion polls in India have repeatedly shown that people generally vote more for the party than for the candidate

Options :

1. # Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. % (A)is true, but (R) is false.

4. % (A)is false, but (R) is true.

Question Number : 208 Question Id : 97675511846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 3 By U TTU B, U 1 Sifiiehe (T) SR GER B BRUT (3AR) BT T &

R U TN e T IS ST BT I DI -

BT (T) : ASHIID & YR eI & s J & gL B

HRT (3R): YR T ST Fa&fon 5 TR-IR fG@mn § 6 oM dR IR aiT SEeaR &1 a1 J 9Tl &1 e die ad g
Options :

1. % (Q) 3IR (3R) THI I & 3R (3MR) (T) P! He! A3

2. ¥ (@) 3R (31R) 1 T §, A (3R) (T) BT et T 181 3

3. % () I g, Afh (3R) FoT 7 |

4. % (T)7TAd ®, Al (3R) T &

Question Number : 209 Question Id : 97675511847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has written the book titled ‘Politics in India’?
Options :

1. # Louis Dumont

2. % Atul Kohli



3. % Rajni Kothari
4. # Sanjib Baruah

Question Number : 209 Question Id : 97675511847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ifefea 3 Sfear e T&ie fhan ford) 82
Options :

1. % g3 Al

2. % I HIgal

3. ¢ I BISRI

4. % Golid B3

Question Number : 210 Question Id : 97675511848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements with regard to Public Policy:

A. Public policy is an action which employs governmental authority to commit resources in support of a preferred value.

B. It is a strategy for achieving public goals through the management and allocation of power, rights, resources, information, and inducements.
C. In democratic forms of government, the major part of public policies are made in the parliament through legislative processes.

D. The domain of public policy is very limited and it includes only those matters that concerns defence, agriculture and health.

Select the incorrect answer from the code given below:

Options :

1. % Band C
2. % Cand D
3. % Only B
4. % Only D

Question Number : 210 Question Id : 97675511848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Hifd & gy # fgfaied Sy R faar &



A. QA i Th U HRATS § off IRBR] WABI0 Bl UuIe ed o gHUH & Jqe! oI Ufcdg H- & forg FHaiforg i 31
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Options :

1. % B3R C
2. % C3RD
3. % $Had B
4. ¥ $Had D

Question Number : 211 Question Id : 97675511849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements with regard to Political Processes:

A. Political processes can be reduced to the preferences or behaviour of individuals, but are also conditioned by group actions and interactions.
B. These groups-their solidarities and their conflict-make independent contributions to determining political outcomes.

C. “Representation” is the exclusive key relationship between such groups and the making of authoritative decisions.

D. This relationship is increasingly structured through specialised, “legally constituted” organisations with identifiable and reproducible
boundaries.

Select the correct statement from the code given below:

Options :

1. * Band C
2. ¥ Band D
3. ®* Only A
4. % Only D

Question Number : 211 Question Id : 97675511849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ B3RC

2.¥ B3RD

3. % Pad A

4. % A D

Question Number : 212 Question Id : 97675511850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the first summit of NAM held?
Options :

1. % 1961

2. % 1966

3. % 1972

4. % 1978

Question Number : 212 Question Id : 97675511850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TA.U.TH. (NAM) BT Ugal FRRR IWiaq fra ot maifora fosam war ur
Options :

1. % 1961

2. % 1966

3. % 1972

4. % 1978

Question Number : 213 Question Id : 97675511851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who led the Narmada Bachao Andolan movement?
Options :

1. # Baba Amte

2. ¥ Medha Patkar

3. # Sunderlal Bahuguna

4. ® Rajendra Singh

Question Number : 213 Question Id : 97675511851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THaT STl 3ficie &1 A fa foban
Options :

1. % STeT A

2. ¢ YT UICeR

3. % gedrd IgIun

4. % o5 Rig

Question Number : 214 Question Id : 97675511852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bias towards party interest is attributable to which of the following kinds of bureaucracy?
Options :

1. * Guardian bureaucracy

2. #® Caste bureaucracy

3. ¥ Patronage bureaucracy

4. % Merit bureaucracy

Question Number : 214 Question Id : 97675511852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % WRED THTG!
2. % S AIHE
3.  TREUT BRG]
4. % AR FrHme

Question Number : 215 Question Id : 97675511853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first major reform that brought in democracy in Britain?
Options :

1. ¥ Reforms Act, 1832

2. % Reforms Act, 1842

3. # Reforms Act, 1822

4. # Reforms Act, 1852

Question Number : 215 Question Id : 97675511853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fsyes o Aepda @ aTa Ugdl T guR Fofafed 3 9 s arg?
Options :

1. ¢ YR HfIH, 1832

2. % YR UMD, 1842

3. % YR UHTH, 1822

4. % QYR AfAFTH, 1852

Question Number : 216 Question Id : 97675511854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bentham started and financed the Westminster in .......... .
Options :



1. #= 1823
2. % 1820
3. % 1822
4.+ 1824

Question Number : 216 Question Id : 97675511854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JYTA ... T I fHRer & YI3MTd Bt 3R faquiiyd forar
Options :

1. % 1823

2. % 1820

3. % 1822

4. v 1824

Question Number : 217 Question Id : 97675511855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was the first of the 15 Soviet republics to declare its independence?
Options :

1. #* Tajikistan

2. * Latvia

3. % Lithuania

4. * Estonia

Question Number : 217 Question Id : 97675511855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 o 15 Fifdad TR & ¥ Ugar o7 fore S(u=it STITe! &1 gron &1
Options :

1. ® qiicifesae



2. % @rdfadr
3.« fayanf-a
4. % T

Question Number : 218 Question Id : 97675511856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The book titled 'The Bureaucratisation of the World' is written by:
Options :

1. % Herbert Spencer

2. # Michel Foucault

3. % Bruno Rizzi

4. % Harriet Martineau

Question Number : 218 Question Id : 97675511856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SRIb IR T T I6a' ATHS T fhad gRT fordt 18 82
Options :

1. % goc WW

2. % IR Bidiee

3. ¢ A RSH

4. % gRe mifé

Question Number : 219 Question Id : 97675511857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements with regard to Communist Parties:

A. Initially, European communist parties were organised on the pattern of socialist parties, but after 1924, they followed the pattern of Soviet
Communist Party.

B. Communist parties follow the principle of ‘democratic Centralism’, which implies democratic participation of members in party structure, but
centralised decision making and supervision.

C. At different levels in the party, discussion does take place, but directions of the leadership can never be violated or defied.



D. No other party anywhere in the world, except perhaps the Fascist parties, is so rigidly based on ideology as the communist parties are.
Select the correct statement from the code given below:

Options :

I.* Aand D
2. % Aand B
3. % Only C

4. ¥ A,B,C,D

Question Number : 219 Question Id : 97675511857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TIAR S

2. % TR

3. % Paa It

4. T & 91 St

Question Number : 220 Question Id : 97675511858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has written the book titled "Women’s Role in Economic Development'?
Options :

1. ¥ Ester Boserup

2. #* Elinor Ostrom



3. # Olivia S. Mitchell
4. * Thomas Robert Malthus

Question Number : 220 Question Id : 97675511858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 feem forg Ad 37 sHfte STaude’ ATHe Y fo g2
Options :

1. ¥ R THeU

2. % TCHR S

3. % Siferiaan oy fode

4. % YAYRISE AIY
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Question Number : 221 Question Id : 97675511859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India’s first major science policy, the Scientific Policy Resolution (SPR) was drafted in which year?
Options :

1. % 1964

2.9 1958

3. % 1983

4. % 1971

Question Number : 221 Question Id : 97675511859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR &1 Ugah v fagm ifq, aae i Joe (@udfiem) o1 adier fog av dur fear m ur
Options :

1. ®* 1964

2.9 1958

3. % 1983

4. % 1971

Question Number : 222 Question Id : 97675511860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In early 1947, Hindustan Mazdoor Sevak Sangh was set up with the



Options :

1. # Calcutta Textile Workers

2. % Bombay Textile Workers

3. % Sabarmati Textile Workers
4. ¥ Ahmedabad Textile Workers

Question Number : 222 Question Id : 97675511860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1947 1 AT H, fEGea TolgR Yadh T &1 RITHT fdheios 1Y &1 718 o2
Options :

1. % HADT CaIeIsd aby

2. % G CRICIEd dhy

3. % IR CRICTRd g

4. ¥ IGHCIEIG CHICISd Iy

Question Number : 223 Question Id : 97675511861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the finance minister of the Interim Government post war in 1946?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. Liaquat Ali Khan

2. Zulfikar Ali Bhutto

3. Maulana Abul Kalam Azad
4. John Mathai

Question Number : 223 Question Id : 97675511861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
1946 T g & TG SfARH WHR & fad J S A2

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. ferarend 3refl @M

2. JfpHR 3fcit Yl

3. HIAHT A HAH 3MTolG

4. Sl 9UTS

Question Number : 224 Question Id : 97675511862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which Article of the Constitution, every resident, adult citizen of sound mind, and not legally barred on grounds of crime, corruption or
illegal practice, is entitled to be registered as a voter?

Options :

1. # Article 224
2. % Article 225
3. % Article 326
4. % Article 329

Question Number : 224 Question Id : 97675511862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU & g sifwse & ded U A, T fGHTT &1 a0%d AN, SR SIRTY, YITER a7 $(dY FGER & YR R ST 9 9
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Options :

1. % 3Jwq 224
2. % 3G 225
3. ¥ TG 326




4. % 3¢ 329

Question Number : 225 Question Id : 97675511863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not correct about the Directive Principles of State Policy?
Options :

1. ¥ A more direct activist role of the state in bringing forth socio-economic transformation was assigned by the Constitution of India through
Directive Principles of State Policy.

2. ¥ These principles are directly enforceable by the law courts.
3. # The courts, while interpreting the Constitution, including the Fundamental Rights, are to be guided by them.

4. % The Constitution enjoins the state to regard them as fundamental in governance and to apply them when making laws.

Question Number : 225 Question Id : 97675511863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 226 Question Id : 97675511864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The state shall, within the limits of its economic capacity and development, make effective provision for securing the right to work, to education
and to public assistance in case of unemployment, old age, sickness and disablement, and in other cases of undeserved want. This is as per which
article?

Options :
1. ¥ Article 41



2. % Article 44
3. % Article 47
4. % Article 40

Question Number : 226 Question Id : 97675511864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 227 Question Id : 97675511865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Article states that the state shall endeavour to develop agriculture and industry along modern scientific lines?
Options :

1. * Article 148

2. % Article 39

3. ¥ Article 48

4. = Article 114

Question Number : 227 Question Id : 97675511865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for Srgee T et T § b o Sy aRTAe aol IR FiR 3R ITNT HY s Rid B3 T TaRT B

Options :

1. % 3T=9G 148



2. % 3G 39
3. ¥ TG 48
4. % 3Ta 114

Question Number : 228 Question Id : 97675511866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who argued that sovereignty is the creation of a social contract and the sovereign is that individual or assembly who is authorised to will for the
general purpose?

Options :

1. # Jean Bodin

2. % David Held

3. #® Jean-Jacques Rousseau
4. ¥ Thomas Hobbes

Question Number : 228 Question Id : 97675511866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem adh fea fos TUYdT U AT Sigae &1 (101 § TR YUY 98 fdd a1 9T § Sl ITHR Se=d & oIt aeiiad o forg sifiigd g2
Options :

1. % SiF ST

2. % oS 5w

3. % SHF-Sdg =91

4. ¢ YO gl

Question Number : 229 Question Id : 97675511867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a kind of Sovereignty?
Options :

1. % Real and Titular Sovereignty

2. % Implicit and Explicit Sovereignty



3. # Dejure and Defacto Sovereignty
4. % Legal and Political Sovereignty

Question Number : 229 Question Id : 97675511867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR # ¥ 319 T UPR Bt YT T8l 82

Options :

1. % GRAfA® SR ATHHT BT JoYdT
2. ¢ TAfEa 3R Tom Juy

3. % fER 3R fethae! Tuyar

4. % HIAT 3R AoHITAD FYT

Question Number : 230 Question Id : 97675511868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not correct about Austin’s Concept of Sovereignty?

Options :

1. #® Sovereignty is necessary for the state. Sovereignty is one of the four elements of the state. There cannot be a state without sovereignty.

2. % Sovereignty has to be determinate. It resides in a person or a body of persons. State is a legal order in which the sovereignty can be located
very clearly.

3. # Sovereign is the supreme power in the state. He is the source of all authority in the state. His authority is unlimited and absolute. He does
not take commands from any one as nobody has a right to command him.

4. ¥ The rights and liberties of the individual also culminate from the sovereign and do not restrict the operation of the individuals’ sovereignty.

Question Number : 230 Question Id : 97675511868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 231 Question Id : 97675511869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the state of , the Communist Party came to power in 1957. This was the first time in the world, a Communist party government
had come to power through democratic elections.
Options :

1. ¥ West Bengal
2. % Karnataka
3. ¥ Kerala

4. ® Punjab

Question Number : 231 Question Id : 97675511869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Uigw §re

2. % HACH

3. ¥ Rd

4. % USq

Question Number : 232 Question Id : 97675511870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marx in his history of ideas puts three main explainations of how the human societies have developed over the years. Which of the following is
not one of them?



Options :

1. % Spiritualist Interpretation
2. # Idealist Interpretation

3. # Realist Interpretation

4. ¥ Materialist Interpretation

Question Number : 232 Question Id : 97675511870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® JTHAIC] RS

Question Number : 233 Question Id : 97675511871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was Meghalaya carved out of Assam?
Options :

1. % 1970

2. % 1971

3.9 1972

4. % 1973

Question Number : 233 Question Id : 97675511871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUTAT 1 3RTH I T HRb hd ST TT U2
Options :




1. ® 1970
2. % 1971
3.9 1972
4. % 1973

Question Number : 234 Question Id : 97675511872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A legal proceeding during which an individual’s right to hold an office or governmental privilege is challenged is called -
Options :

1. # Writ certiorari

2. % Writ of quo warranto

3. ¥ Writ of mandamus

4. # Writ of prohibition

Question Number : 234 Question Id : 97675511872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B HRiaTe! forde GRM fordl safad & bt U a1 TR fIRWIYSR B A & & SHABR 1 A &l Siielt 8, Podrdl o:
Options :

1. % IV BT Re

2. ¢ JHYBR J51 i Re

3. % RAG BI ke

4. % gfavy Re

Question Number : 235 Question Id : 97675511873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The president addresses both the Houses of Parliament assembled together:
Options :

1. # during emergency session summoned for the purpose



2. % every session
3. ¥ first session after each general election and the first session of each year

4. ® any session

Question Number : 235 Question Id : 97675511873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ol 3T=T & foTw game U STUTaewTel= I & SR

2. % gR4A

3. ¢ YA 3 g1d & a8 Ugdl I 3R TS a9 &1 gl o
4. % g T

Question Number : 236 Question Id : 97675511874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Expand UNFCCC?
Options :

1. ¥ United Nations Framework Convention on Climate Change
2. % United Nations Framework Counter on Climate Change

3. % United Nations Framework Convention on Climate Call

4. % United Nations Fast Convention on Climate Change

Question Number : 236 Question Id : 97675511874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JUATHHRR (UNFCCC) & fawdR 312



Options :

1. ¥ gA3CS A=Y IhHdD H-axH 314 FAZHS ool
2. % FACS A hHID B3R 31 FAgHE Il
3. % YIS A thHadh H-AH T FATSHE Pidt
4. % GATSCE AR RS H-d%H 3HH FAZHC ool

Question Number : 237 Question Id : 97675511875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Idea of five year plan was adopted in India from?
Options :

1. #® The United States of America

2. % Japan

3. ' United Soviet socialist republics

4. ® Australia

Question Number : 237 Question Id : 97675511875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H TSI Ao &1 faaR gl 3 SuHwT 47 A1
Options :

1. % Tgod o HRIhT

2. % U

3. ¢ g HIfdad FHISTard] TR

4. % 3fcfer

Question Number : 238 Question Id : 97675511876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The socialist model of development was related to -
Options :



1. ®¥ The USA
2. # Europe
3. ¥ USSR
4. # Pakistan

Question Number : 238 Question Id : 97675511876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
b T THISTaTd} Aied Jafdd of -
Options :

1. % o Iy SURBT

2. % WU Y

3. ¢ ifdgd ¥9 ¥

4. % UIiche 9

Question Number : 239 Question Id : 97675511877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indira Gandhi got the Congress working committee to adopt the ten-point programme in
Options :

1. % April 1967

2. ¥ May 1967

3. % June 1967

4. % July1967

Question Number : 239 Question Id : 97675511877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SeRT TTieR A B SR B aF P HRIHH DI UM & o1T He Hal UI?
Options :

1. % 3[Ud 1967



2.+ TS 1967
3. % S 1967

4. % T3 1967

Question Number : 240 Question Id : 97675511878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An American general, Norman Schwarzkopf, led the UN coalition against Iraq in which of the following UN Operation?
Options :

1. ¥ Operation Desert Strom

2. % Operation Terror Freedom

3. # Operation Black Commando

4. % Qperation Iraq Freedom

Question Number : 240 Question Id : 97675511878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SARD! SR, ATHA YToiobIth - 37 b RATTh YYard Y TSEY D Aqed Fafciiad & J forg S 1y o # foban um
Options :

1. ¢ 3{TIRTA oI TiH

2. % IRIYH TR WBIeH

3. % HORIE &I HHS!

4. % JHTRIA WP Wigd
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Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 97675511879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which party dominates the political affairs of Maldives?
Options :

1. ¥ Maldivian democratic party

2. * Maldivian socialist party

3. % Maldivian Communist party

4. * Maldivian republic party

Question Number : 241 Question Id : 97675511879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HIadId & oHifae Al | foog urdf &1 cagar g2
Options :

1. ¢ HIdcd Al did urel

2. ® Hraeig gHISarg] aref

3. % OIada SRy el

4. % HIACIG TTURTSY ATl

Question Number : 242 Question Id : 97675511880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Trygve Lie was the first secretary general of UN. He was from which of the following Countries?
Options :

1. ®* Germany

2. ¥ Norway

3. * France

4. % Ttaly

Question Number : 242 Question Id : 97675511880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RT3 T Wi W1y 3 U Here G 4| a8 ke A 4 fra 2w a &
Options :

1. % ST

2. ¢ Hid

3. % Big

4. % gt

Question Number : 243 Question Id : 97675511881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following Prime Minister of India led the first coalition government of India?



Options :

1. # Indira Gandhi

2. # Chandra Shekhar
3. # Charan Singh

4. ¥ Morarji Desai

Question Number : 243 Question Id : 97675511881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRed O 9 YRA & food g @3t 7 URd &1 Ugdl! T3 IRDBR PT Agcd b1
Options :

1. ® gfaRrmieht

2. % dg YW

3. % RO ¥g

4. ¥ IR ¢4T8

Question Number : 244 Question Id : 97675511882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The railway strike of 1974 was called by George Fernandes when he was the President of:
Options :

1. ¥ All India Railwaymen's Federation

2. # Rail Mazdoor Sangh

3. ¥ Bharatiya Kamgar Sena

4. % Railway Employees' Union

Question Number : 244 Question Id : 97675511882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1974 1 ¥Ad TS BT STEM SirSl Bia N o g H a1 71 4T 3§ I8 & e U

Options :




1. ¢ 3ITd SfsaT Iada- Be¥H
2. % o HOIGR Y

3. % YR SR 1

4. % JdTd T g

Question Number : 245 Question Id : 97675511883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which year had India completely started using EVMs in elections?
Options :

1. % 1984

2. % 1992

3. % 2004

4. % 2010

Question Number : 245 Question Id : 97675511883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o a8 d HRA A A1 H I3 a8 W SaTTH BT SUTNT BT & B 1T UT?
Options :

1. % 1984

2. % 1992

3. % 2004

4. % 2010

Question Number : 246 Question Id : 97675511884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian leader who is the first recipient of Bharat Ratna award is -
Options :

1. % Balraj Madhok



2. ¥ Rajagopalachari
3. # B. R. Ambedkar
4. ¥ K.M. Munshi

Question Number : 246 Question Id : 97675511884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 HRATG AT Sl YRd Id RIHR & Ugd UTdhdi g -
Options :

1. % SRS HYlD

2. ¢ ASNUTARIRT

3. % §f 3R 3fdEhT

4. % &0 G=M

Question Number : 247 Question Id : 97675511885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Swatantra Party was formed in which of the following years?
Options :

1. % 1952

2. % 1955

3. % 1959

4. % 1961

Question Number : 247 Question Id : 97675511885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad & ¥ fore o <ad= urei &1 7T favar T Ut
Options :
1. ®¥ 1952
2. % 1955



3. ¥ 1959
4. % 1961

Question Number : 248 Question Id : 97675511886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country in central Asia witnessed a civil war that went on for Ten years?
Options :

1. % Azerbaijan

2. ¥ Tajikistan

3. # Uzbekistan

4. % Turkmenistan

Question Number : 248 Question Id : 97675511886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TRAT & {6 <=1 ¥ au 9 9d Tegs I o@I?
Options :

1. * ARSI

2. ¥ ASIfB &I

3. % JushdM

4. % GHUXIH

Question Number : 249 Question Id : 97675511887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In America, when the President's post falls vacant (resignation, death, impeachment, etc) then who of the following takes over as President?

Options :

1. ¥ Vice President

2. * The Judge of Supreme Court

3. ¥ The Governor of the state of Washington



4. ® The Chief of Defence

Question Number : 249 Question Id : 97675511887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T H, S YUl &1 ug Rad 81 1l § (ST, Jog, HeTiT, 3nfe) ot Faffad & § o1F Iyufa &1 ugHR T80T adT 32

Options :

1. ¢ Iwgufa
2. % U HIC & e

3. % gIRATe I & IoTUTd
4. % g cdl S YT

Question Number : 250 Question Id : 97675511888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the year 1997, Mr. Indra Kumar Guyjral, elected as Prime Minister was a member of
Options :

1. # Lok Sabha

2. ¥ Rajya Sabha

3. ®# member of State Legislature for Gujarat

4. ® Member of State Legislature from Kerala

Question Number : 250 Question Id : 97675511888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 1997 |, UM T & =0 T g4 T ot $5 FHR ORI & G Y|
Options :

1. % THIHT

2. ¥ ST JYT

3. % ORI & [ 359 fAUTHSd & 9ad

4. % I Y AT [GUTHST & o




Question Number : 251 Question Id : 97675511889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which Article of the Constitution can the Rajya Sabha pass a bill with 2/3rd majority and establish one or more all India services?
Options :

1. # Article 356

2. % Article 256

3. % Article 312

4. % Article 96

Question Number : 251 Question Id : 97675511889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU & o Simse GRT ST THT 2/3 TgHA I 8 UTRd & Al § 3R T AT 31 SR R YTl Bt RITTHT HR Tl g2
Options :

1. % 3Tw9G 356

2. % 3G 256

3. ¥ 3G 312

4. % 3G 96

Question Number : 252 Question Id : 97675511890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was Rajeev Gandhi assassinated?
Options :

1. # 215 June, 1992

2. ¥ 215" May, 1991

3. % 30t May, 1991

4. % 20t May, 1990



Question Number : 252 Question Id : 97675511890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Toita el o1 g od g5 A

Options :

1. % 219, 1992

2. ¥ 21 W%, 1991

3. % 3078, 1991

4. % 20 7%, 1990

Question Number : 253 Question Id : 97675511891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many members are there in Public Accounts Committee?
Options :

1. * 20

2.9 22

3.% 24

4. % 18

Question Number : 253 Question Id : 97675511891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
drep oaT it & fhd= Iew gid 82
Options :

1. % 20

2.9 22

3. % 24

4. % 18

Question Number : 254 Question Id : 97675511892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

On 19 March 2003, the US launched its invasion of Iraq under the code name -
Options :

1. ¥ Operation Iraqi Freedom

2. % Operation Terror Freedom

3. % Operation War On Terrorism

4. % Qperation Red

Question Number : 254 Question Id : 97675511892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 | 2003 1, SHRDT F b g HISH b d6d 31 TR YT SHTHHU T fhan
Options :

1. ¢ SO b isH

2. % SfTRTH TR BIgH

3. % SO AR 3 RRH

4. % JRIFATS

Question Number : 255 Question Id : 97675511893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
theory in political analysis assumes that individuals tend to use actions that bring them the best results.
Options :
1. ¥ Game theory
2. % Grey Theory
3. ¥ Damp Theory
4. ¥ Race theory

Question Number : 255 Question Id : 97675511893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N EIIGCAGESLE Rygid A1 § o ufad 39 &l &1 ST $d § o 3= Jardd ulRumd UeH #d g




Options :

1. ¢ W fRgia
2. % Y f{gid
3. % W Rigid
4. % 39 f¥gid

Question Number : 256 Question Id : 97675511894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Easton's conceptual framework evolvedin _ phases
Options :

1. % 2

2.¥3

3.% 4

4. %5

Question Number : 256 Question Id : 97675511894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SEABI ARG el TRON A faHbfyd gafl
Options :

1. %2

2.¥3

3.% 4

4, % 5

Question Number : 257 Question Id : 97675511895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following does not come under the purview of Civil Case?
Options :



1. # Divorce between Husband and Wife
2. # Property

3. % Robbery

4. # Breach of Contract

Question Number : 257 Question Id : 97675511895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafed @ 3 oF Rifad &9 & aaR § 761 ST 82
Options :

1. % O 3R et & o qetts

2. % Uiy

3. ¢
4, % 3JdY BT I

Question Number : 258 Question Id : 97675511896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Parties act as a check against the tendency of absolutism which is also known as:
1. Caesarism

2. Bonapartism

3. Multi-partisan

Options :

1. % Only 1

2. % Only 2
3.9 Only 3

4. % 1,2 and 3

Question Number : 258 Question Id : 97675511896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tiféat fARUeT &1 Ughi & R Ue oiid & U & B HRdl g ford 3R [ = & +ft 1 St &:




1. AETRIS

2. SHMETG
3. §g-qdig
Options :

1. % &Had 1
2. % Had 2
3. ¢ 6Hdd 3
4. % 1,233

Question Number : 259 Question Id : 97675511897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Red Empire (USSR) was disintegrated in which of the following years?
Options :

1. % 1991

2. % 1989

3. % 1992

4. % 1993

Question Number : 259 Question Id : 97675511897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AT (USSR) Fafafad & 9 forg o & faafed gam um
Options :

1. % 1991

2. % 1989

3. % 1992

4. % 1993

Question Number : 260 Question Id : 97675511898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Vice President of India is:

Options :

1. #® The de facto President of the National Human Rights Commission
2. ® The Speaker of the Lok Sabha

3. ¥ Ex-Officio Chairman/Chairperson of the Rajya Sabha

4. ® The de facto representative of India to the UN General Assembly

Question Number : 260 Question Id : 97675511898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd & JURIPULd :

Options :

1. % 9RAqd H FT AFGIRIGR SR 3 3iemef gid §

2. % QI YU P WA BId &

3. ¢ ST FUT & U GHTRY 81 §

4, % TYad Y HERIHT P aRad H YRA &b YTaHTY gid &
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Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755856
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 97675511899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trans-national state is known for having a ............... .
Options :

1. ¥ Divided sovereignty

2. # Sole Centre of power

3. % United power

4. # Divided Power

Question Number : 261 Question Id : 97675511899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YRR Y I B g % forg ST T 8
Options :

1. ¢ fauTiord Fuydr

2. % QI B THHH bgt

3. % god Qfad

4. % fauriord et



Question Number : 262 Question Id : 97675511900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The full form of MFN is:

Options :

1. ¥ Most favourite nation

2. % Multi favored nations

3. ¥ Most favored nation

4. % Most Forward nation

Question Number : 262 Question Id : 97675511900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MFN &1 01 WU § :
Options :

1. % HRE Bhaye A%
2. % Hocl khas A
3. ¢ URE Thds AT
4. % TARE BRIS M

Question Number : 263 Question Id : 97675511901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following theories is not regarding origin of States?
Options :

1. # Divine theory

2. % Marxian theory

3. ® force theory

4. ¥ Braid theory

Question Number : 263 Question Id : 97675511901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafaRea & 3 oF a1 Rigid sl & It & 5 J g1 52
Options :

1. % gat Il Rigia

2. % HraHdrd] Rl

3. % g9 Rygid

4. ¢ o fagia

Question Number : 264 Question Id : 97675511902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ said, Mill is a messenger of “Hollow Liberty”.
Options :

1. # Auguste Comte

2. # Georg Simme

3. ¥ Barker

4. % Aristotle

Question Number : 264 Question Id : 97675511902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ A%erg, B S e F1ga g
Options :

1. % 3RS DI

2. % el Ry

3. % dRM

4. % 3]

Question Number : 265 Question Id : 97675511903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who wrote "The Indian Constitution: Cornerstone of a Nation"?
Options :

1. ¥ Granville Austin

2. % Amritya Sen

3. % Hobbs

4. #® John Rawls

Question Number : 265 Question Id : 97675511903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ffdem: 7y B syrfRrer fem fordt g2
Options :

1. ¢ JAfaq 3HiReq (Granville Austin)

2. % WA A (Amritya Sen)

3. % gisg (Hobbs)

4. % SEI™ (John Rawls)

Question Number : 266 Question Id : 97675511904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Marxists the main test of the injustice in society is:
Options :

1. # Poverty

2. % Richness

3. ¥ Exploitation

4. % Mode of Production

Question Number : 266 Question Id : 97675511904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIRIATEET o SR THIS H 30T &1 e U183

Options :



1. % GRgd

2. % ¢adl

3. ¢ V0T

4. % IATCH BT T

Question Number : 267 Question Id : 97675511905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is writer of the book “Who were Shudras™?
Options :

1. # APJ Abdul kalam

2. # Atal Bihari Vajpayee

3. % Salman Khurshid

4. ¥ B.R. Ambedkar

Question Number : 267 Question Id : 97675511905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“g IR YERT TP & TG B g2
Options :

1. % TH S 3fegd S

2. % 3 fogRl areudl

3. % gaAH geife

4. ¥ §1.3R. TSI

Question Number : 268 Question Id : 97675511906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By welfare state, citizens should be given the guarantee of minimal .......... .
Options :

1. # Land



2. % Wealth
3. ®# House

4. ¥ Standard of living

Question Number : 268 Question Id : 97675511906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HAUHR] Iod GRT ARTRSD] BT GAdH ... &1 MRET & S AR
Options :

1. % S

2. % Uiy

3. % W

4. ¢ SflgT TR

Question Number : 269 Question Id : 97675511907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Supreme court and High Court have:
1. Judicial review power

2. Impeachment power

3. Power of removing Governor

Options :

1. ¥ Only 1

2. % Only 2
3. % Only 3
4. % 1,2and 3

Question Number : 269 Question Id : 97675511907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{-IdTw IR IIG RS GﬁT o YUy %w%
1. <1 THte Tfad




2. HETIART &1 Rfed
3. Io9UTd I g &t Qfad

Options :

1. ¢ $Had |
2. % Had 2
3. % $dd 3
4. % 1,233

Question Number : 270 Question Id : 97675511908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which among the following cases, the Supreme Court of India propounded the theory of basic structure of the Constitution?
Options :

1. # Gopalan vs. State of Madras

2. % Golak Nath

3. % Keshvanand Bharati

4. ¥ Minerva Mills

Question Number : 270 Question Id : 97675511908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

 Fofoiad @ ¥ ford Ame |, YR o gdid e A SiaU™ & gd e o Rigid &1 ufduried fear
Options :

1. % TUTeH S99 A& I

2. ® A 1Y

3. HRAME YRG!l

4. % fial e

Question Number : 271 Question Id : 97675511909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following are the three types of services envisaged in the Constitution of India?
Options :

1. # Navy Service, Air force Service and Army Service

2. % Civil Service, Military Service and Paramilitary Service

3. % All-India services, Central services and State services

4. % First Grade Service, Second Grade Service and Third Grade Services

Question Number : 271 Question Id : 97675511909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiied & 9 ®F YRd & Ifau™ & uReeud diF UeR &1 9ard g2
Options :

1. % YT e, aRg 1 a1 MR Y o1 T

2. % Rfae e, I=0 Ta1 3R e dar

3. ¢ AT YR JaTE, Hed JaTd 3R T 4Ty

4. % Ty 9O7 Gar, fgcfia 9o a1 SR qefta oft Jarg

Question Number : 272 Question Id : 97675511910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Once a Budget has been presented in the Parliament, the government has to get all money bills related to the union budget passed within _ ?
Options :

1. ¥ 30 Days

2. % 60 Days

3. ¥ 75 Days

4. ® 90 Days

Question Number : 272 Question Id : 97675511910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U IR TG H doic U HR & 916, IWHR Bl Had goic I eidd gt ¢4 fagas] o1 & HiR Tiikd SHam giar 82

Options :




1. % 30feT
2. % 60 faA
3. ¢ 75T
4. % gofea

Question Number : 273 Question Id : 97675511911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Case normally does not come across Lok Adalat?
Options :

1. # Compensation Cased pertaining to Motor Accidents
2. % Murder Cases

3. % Marriage Cases

4. # Labourer Compensation Cases

Question Number : 273 Question Id : 97675511911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SfaTerd H AR TR I 91 HTHET gl 31Tdl 82
Options :

1. ® Tiex gdeTsll I Aefid gafas &1 dHa

2. ¥ A1 & A1

3. % fqarg & g

4. % TSGR ga{Tael qrHd

Question Number : 274 Question Id : 97675511912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Objective Resolution was moved in the first session of the Constituent Assembly on 13, December, by Jawahar Lal Nehru
Options :

1. #* 1945



2. ¥ 1946
3. % 1947
4. % 1948

Question Number : 274 Question Id : 97675511912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIATeR A1 8w gRI 13 fader, I IfAu™ 91T & Ugd O H 30 Uard U fobar ar ot
Options :

1. % 1945

2.9 1946

3. % 1947

4. % 1948

Question Number : 275 Question Id : 97675511913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The book “Reasonableness of Christianity” was published in ............... .
Options :

1. ¥ 1695

2. % 1660

3. % 1690

4. % 1692

Question Number : 275 Question Id : 97675511913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QA "IoHaay 31 ffgafadt o IR g% o
Options :

1. ¥ 1695

2. % 1660

3. % 1690



4. % 1692

Question Number : 276 Question Id : 97675511914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Locke's first Treatise was written during ............... .
Options :

1. ¥ 1679-1680

2. % 1685-1686

3. % 1683-1684

4, % 1680-1681

Question Number : 276 Question Id : 97675511914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NI AR I REINRS P SR foran T o7
Options :

1. ¥ 1679-1680

2. % 1685-1686

3. % 1683-1684

4. % 16801681

Question Number : 277 Question Id : 97675511915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Friedrich Wilhelm Nietzsche characterised Platonism as the intellectual side of ............... .
Options :

1. # Islam

2. # Farzi

3. ¢ Christianity

4. # Yahudi



Question Number : 277 Question Id : 97675511915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

bR fdeg IRl A wiciHeH 3l & Sifad ya & wu H fafd
Options :

1. * gHH

2. % Bioidh

3. 3915 U

4. % ggdl

Question Number : 278 Question Id : 97675511916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not in the ten principles of social justice?
Options :

1. # Human Dignity

2. # Solidarity

3. % Promotion of peace

4. ¥ Promotion of political ideology

Question Number : 278 Question Id : 97675511916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad & O B9 31 Qe ara & o Rigidl # 761 82
Options :

1. % Tg qafer

2. % Udbycdl

3. % Tfd BT IR

4. ¢ SHIAP [IERYRT 6T YR



Question Number : 279 Question Id : 97675511917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aristotle was born at in Northern Greece.
Options :

1. ¥ Macedon

2. % Athens

3. ¥ Stagira

4. % Chalcis

Question Number : 279 Question Id : 97675511917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3RE] BT S I LA H Hgemur
Options :

1. % TS

2. % TIg

3. ¢ iR

4. % e

Question Number : 280 Question Id : 97675511918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nicomachus was a court physician to king
Options :

1. ¥ Amyntas III

2. % Alexander

3. ¥ Xenocrates

4. ¥ Syracuse

Question Number : 280 Question Id : 97675511918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

[REAGIER T & GRaR H aRaR] fifdads uT
Options :

1. ¢ S I

2. % TaoiaR

3. % GHihcH

N

4. % RRTagS
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Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 97675511919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the preliminary and primary level the fundamental subject is EVS, which is the combination of Science and Social Science, but at the upper
primary level it has been distributed in various subjects among them which of the following subjects is not included?

Options :

1. % History

2. % Geography

3. # Political Science

4. ¥ Psychology

Question Number : 281 Question Id : 97675511919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 3R Mufie TR A Afcre g Evs 8, S fagm Sk Irarfoie fagm o1 Tae g, dfe 3= urufiie Tk R 39 faftre fawa) #
faafed fpar T 8, =990 9§ 314 1 vy <nfire et 22

Options :

1. % gfg

2. % A

3. % oI fagme
4. ¢ FAIfGIE

Question Number : 282 Question Id : 97675511920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Our Education experts always have given enough emphasis on Activity Based Learning. These Activity based questions make Social Science
lessons:

Options :
1. # Comprehensive

2. % Sorrowful



3. % Non lengthy
4. ¥ Joyful

Question Number : 282 Question Id : 97675511920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAR g fawt 3 gom wfafafdy smenfea fien w wafa SR faan 31 3 fafafty smenfya ver wmioes fOR &1 urs 91 &
Options :

1. # U

2. % gldq

3. % 3ffasgd

4. gi¥d

Question Number : 283 Question Id : 97675511921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A good teacher always needs to use various kinds of Teaching Aids to make the teaching procedure more and more fruitful. According to you
which type of teaching aids are most useful in the learning Social Science?

Options :

1. ¥ Audio-visual aids
2. ®% Clay

3. ¥ Museum

4. % Drawing Tools

Question Number : 283 Question Id : 97675511921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3w R1a o &0 Uicha1 B1 3% J 3D Terardt - & ford gaR it YR o RI&01 Geadh AERi o1 SUTART A &1
TIRGH AT BIcil g | 3P TR JroTfores g i § fr R ot fRremor arnh waffie Suanf g2

Options :
1. ¥ HH-€Y Haq
2. % YidqHT




3. ® UGy
4, % FABRI & JUBHI0

Question Number : 284 Question Id : 97675511922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A modern man first need to learn past for the better learning of the present. According to you the study of Social Science and EVS is necessary
for

(1) The development of infra-structure facilities
(2) The understanding of educational problems
(3) The understanding of the socio-cultural structure and its relation with environment

Options :

1. # Only (1)

2. % Only (2)

3. % Only (3)

4. % (1) (2) and (3)

Question Number : 284 Question Id : 97675511922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH YD A DI UG ITHM BT SgaR (A& D 11T fcfid BT Ta- B1 STERd ¢ | 3MTUD TR JHTI G AR EVS FT &
& forg 3w B1

(1) SMYRYT T gfaursfi & fawra

() Qfere TaEnef o g

(3) AT -G e TR &1 TH 3R TR0 & 1Y TP Taef ST
Options :

1. % &Had (1)

2. % $Had (2)

3. ¢ $Had (3)

4. % (1), (2) 3R (3)




Question Number : 285 Question Id : 97675511923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to you as a teacher of Political Science which of the following approaches have been considered while developing social and political
life textbooks for the upper primary and Secondary level?

A. Learning through retention based on facts and data.

B. Learning through use of concrete examples and experiences.

Options :

1. ¥ Only B

2. % Only A

3. * Both A and B
4. % Neither A nor B

Question Number : 285 Question Id : 97675511923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TR SIS a7 & e & U 8 I WUl SR Areafiies TR & o1 Immfores iR IsHifdd siiad &1 UTeaqwad! ol
faerfd Ba THy Rafifed 7 4 feg edev R fur fea m ge

A. T 3R 3fihs! P YR TR UFGURUN P HIegH F HRaT|

B. 319 ITERUI 3R SIHaT & SUTNT & HIeqH § g

Options :

1.+ $Had B

2. % dhad A

3. % A SR B!

4. % TAATEB

Question Number : 286 Question Id : 97675511924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every time the situation takes under the scanner at the time of teaching debatable and controversial. According to you while teaching
controversial issues in Social Science class, one should always:

Options :

1. ® Completely avoid confrontations.



2. # Conduct brief discussions
3. % Take them up occasionally

4. ¥ Take them up with proper planning to initiate a dignified discussion

Question Number : 286 Question Id : 97675511924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B IR fdarerye 3R faarerye e & Try fRUTT Jarell & BR T 3T 9Tl 81 30 S8R WIS a7 &1 ba § faareras fawa
DI UGTd JOY gHRI Y 911 T & [g=1 91T

Options :

1. % THd ¥ IR ORE &1 |

2. % Jféra Taf ®|

3. % 35 p-H 33T

4. ¢ U GHoH® 9] IR B & (08 35 Srad Ao & A1y I3

Question Number : 287 Question Id : 97675511925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teacher always should prepare a proper lesson planning and keep a record of it every time. You should plan your lesson always keeping the
linkage area of the child’s life at school .The suggestion of National Curriculum Framework (2005) is that Social Science must link a child's life
at school with:

Options :

1. ¥ life outside the orthodox classroom
2. # life inside the orthodox classroom
3. # only bookish knowledge

4. ® expectation of teacher

Question Number : 287 Question Id : 97675511925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 18 P GHRM T IFod UTS AIoHT dUR BT AT 3R B IR SUDT Rebls Y@ AU | HTUD] §HLT WA H 92 & oiia- &b JS[4
&7 B T | [ §U 3T UTS BT AISi1 SH1 AMeT | AP UTeadi BT ORI (2005) PTG & [ Ao a7 &1 Wl § 9 &




Sia &l 9% 1Y Sie1 A1 T:
Options :

1. ¢ FledIcl HET P IR BT Sila-
2. ¥ Flgdlal Hefl b 3fax B i
3. % Yt fosdret =

4. % &b B 30T

Question Number : 288 Question Id : 97675511926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a teacher you are given two choices one to teach EVS at the primary level and another to teach Social Science at the upper primary level. You
have opted for Social Science. What according to you the classroom processes involving in Social Science helps in developing:-

Options :
1. # Skill
2. % Knowledge
3. % Expression

4. # Skill, knowledge and expression

Question Number : 288 Question Id : 97675511926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e & ©0 H 3T &l fadhed AT S1d & U UTufie Wk R 340y UgH & fAlE SR gERT 3= UIifieh WR IR JqHIoie [97H dgm
& Q| 3o FTATRT O &1 g1 5 1 31U SR AT fasi & Wfid we ufshart 69 fasmr & Aee -l & -

Options :

1. % P

2. % JH

3. % 3ffefad

4. DI, I 3R iR

Question Number : 289 Question Id : 97675511927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the of the followings indicates child’s physical growth?
Options :

1. # Positive

2. # Negative

3. % Comparative

4. ¥ Quantitative

Question Number : 289 Question Id : 97675511927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed @ 3 oF 9= & IRING [dH™ 1 37 Fxar g2
Options :

1. % JPRIHD

2. # qJhRIHD

3. % JodldHD

4. ¢ HHATHD

Question Number : 290 Question Id : 97675511928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The suggestion of National Curriculum Framework (2005) is for the upgradation of Education Policy to make it most effective and Positive.
What according to you is the best method to study growth and development of the child ?

Options :

1. ¥ Psychoanalytic Method
2. ¥ Developmental Method
3. # Qualitive Method

4. % Social Method

Question Number : 290 Question Id : 97675511928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I UTGAE &1 UM (2005) BT iTa R ifd & 904 o fTe & dlfcs 38 Tad T 3R ThRIAS ST Sl 9 | 310D AR




¥ &1 gl 3R IHT BT LT B BT I 3BT ARABT 1
Options :

1. % OIfo=vuTES fafd

2. ¢ fabr TS fafd

3. # UMD fafe

4. % AT fafdr

Question Number : 291 Question Id : 97675511929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Expert Child Psychologists are working day and night for inventing better educational policy for our child, PSRN is also a part of this
invention. Term PSRN in child development implies:

Options :

1. # Perceptual skill, reasoning and numeracy
2. ® Problem solving relationship and numeracy
3. % Problem solving, reasoning and numeracy

4. ® Perceptual skill only

Question Number : 291 Question Id : 97675511929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR 9= & forw dgaR e ifa 39 & for foRiwg s1a wtawnfAe 39 Ia &9 o= T8 §, Tegsired ot 33t snfassr o1 tes e g1
19 fapTd & TR Yeg &1 I &:

Options :

1. % JIGYRUTHD DI, Tb 3R THATHD T
2. % JHYT GHIYM &Y 3R TeHdl

3. « GHIT GHTYH, dHfa 3R B

4. % HaAd TYRUNHD DI

Question Number : 292 Question Id : 97675511930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



From the ancient ages we have heard from many stories the thoughts like “Failure is the Pillar of Success” , “Man made mistakes” etc
A similar statement is “Individual learns from his own mistakes” This based on which learning theory according to you?

Options :

1. # Classical conditioning
2. % Insight of the Out side
3. % Trial & Error

4. # Instrumental conditioning

Question Number : 292 Question Id : 97675511930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T J §H 3 DI I YT § O "SR ad Ihadl &1 WY g, "HIs Bt Tafaar sife |
U1 81 U Sy § "fad 31O Tt ¥ WRadT 8" I8 3 SIIuR ford Sifermy fRygid uR anenfyd g2

Options :

1. % QY 3Ha

2. ® TR DI (AL

3. ¢ TG HAT 3R 7Tt BT
4. % A U e

Question Number : 293 Question Id : 97675511931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true ?
Options :

1. % Education is a goal-oriented process

2. % Learning is a process of behavioral changes
3. #® Growth is a biological process

4. ¥ Development is a quantitative process

Question Number : 293 Question Id : 97675511931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fufafad 7 Q@ &1 91 $Y9 93 T8l 82
Options :

1. % fRrem Ue qedgal ufohan §

2. % ARG HIgR URad P T UlhaT g
3. % 9™ T Sfde ufhar @

4. ¢ fAp™ Th AETHS UfhaT 8§

Question Number : 294 Question Id : 97675511932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the tool for Formative Assessment in scholastic domain?
Options :

1. ¥ Communication Skill

2. % MCQs

3. ¥ Projects Works

4. % Oral Questions

Question Number : 294 Question Id : 97675511932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed § 3 o1 Qe & T Ta TS Jedid BT IUHU g 82
Options :

1. % OVl DHILTE

2. % MCQs (Sgdhieud Us)

3. ¢ ORASHT S

4. % MRS Uy

Question Number : 295 Question Id : 97675511933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is not true in case of MCQs ?



Options :

1. #® All choices appear to be plausible

2. ¥ Even an inexperienced teacher can prepare the questions easily
3. # Only one of the choices is the correct answer

4. ® Error-free and quick evaluation is possible by computer

Question Number : 295 Question Id : 97675511933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MCQs & AHA # Fgfafed & @ oF 91 %Y+ Id 81 82
Options :

1. % gt fashed Ui Uelld g1d ©

2. ¢ U HTE I e it ST ¥ U8 dUR R Ahl §
3. % fqdedl § ¥ Had U 5l 96l SR &

4. % HUR gRI IfC Tad 3R IR Tl 9Hd §

Question Number : 296 Question Id : 97675511934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to John Dewey, schools must prepare students for
Options :

1. # political career

2. % present life

3. ¥ future life

4. % entrepreneurship

Question Number : 296 Question Id : 97675511934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S S &% SR, Wdl # ST &I fhd & iy IR &A1 91T 2

Options :




1. ® JSHIfde g™
2. % gdu Sitaq

3. ¢ Y1dt Sitad

4. % I

Question Number : 297 Question Id : 97675511935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Teacher is supposed to be the Friend Philosopher and Guide. He should plan his evaluation while keeping in mind all types of learning aspects.
As a teacher of Political Science, according to you what type of evaluation identifies learning deficiencies and difficulties of the learners?

Options :

1. # Formative
2. % Summative
3. % Assertive

4. ¥ Diagnostic

Question Number : 297 Question Id : 97675511935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T R1e &1 i e SR AnieRie a1 I g1 39 9 UaR & Ue- & Ugqsil &1 &9 & I9d gU 30 HeHid $i Ao a1
W%ﬂﬁﬁﬁﬂﬂ%@ﬁ&@%ﬂﬁ,&m&wmmuwmwi@qﬁ e o1 BT 3R Rrenfial ot Hig-rsal &t ugam
RGN

Options :

1. #® IATHD

2. % GRTIAD

3. % WIHRIHD

4. ¢ (FeHgd®

Question Number : 298 Question Id : 97675511936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As people grow older, the of learning




Options :

1. # fluently, declines
2. % quantity, declines
3. # quality, declines
4. ¥ speed, declines

Question Number : 298 Question Id : 97675511936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S-S AT S BId ©, e b g g 8!
Options :

1. ® yRIyarg, fiRrae

2. % |, fIR1ge

3. % T[uraT, fR1Ee

4. ¢ Tfd, fRTae

Question Number : 299 Question Id : 97675511937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teacher should always inculcate good behaviors and manners among his/her students. Which from the following should be used to increase
correct responses and appropriate behavior?

Options :

1. % Arrogance
2. % Reward
3. ¥ Praise

4. % Bet

Question Number : 299 Question Id : 97675511937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS TR18 P GHRM 30 THI & a1 3w AdgR R RIFER &1 fawm w1 anfgy | FafaRad 8§ ¥ feas Suan ugt ufdfsmarstt ok
IId IR ! I o Tt far S A1 w?



Options :

1. ® IEadl
2. #® QUHR
3. ¢ U=l

4. % Tqd

Question Number : 300 Question Id : 97675511938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a teacher of Upper Primary Level with special reference to Political Science while preparing the blue-print for a test which one of the
following is not taken into consideration?

Options :

1. # Object

2. # Instructional objectives
3. # Subjective Knowledge
4. ¥ Teaching time

Question Number : 300 Question Id : 97675511938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3d T R & g & =0 | Iorifa o o Oy daaf 8§ Te uien &7 @il R axXd 99 Fafiiad 3 9 {69 te & &M
o 75T T A1 62

Options :

1. #® d]

2. % =TS Ie=
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